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UGC NET PAPER 2 NOVEMBER 30, 2021 SHIFT 1 MANAGEMENT QUESTION PAPER

Topic:- Management_SHAAN_NOVZ1A

1) Which one of the following information type is NOT included in a skill inventory?

forater3an i 2 oier it | Foen v - It # onfder aidt 2 ?

[Question ID = 401][Question Description = $3_qg5Nz_PG_MGT_Q01]
1. Employee's personal data/mmkmdt & =aResm aie2 [Option ID = 1601]

2. Organization’s training schedule/zrisa = ylusmn ggge [Option (D = 1602]

3. Employee's potential/==frh @6 sismeren [Opticn 1D = 1603]

4. Salary and Job history/dmm iz @ @ sfem [(Option ID = 1604]

Correct Answer ;-
® Employee's personal data/o=ardh & mferem afas [Option ID = 1601]

2) Which one of the following approaches stresses that there are no universal rules for managers to follow in order to
perform the job?

forsifeiliaa A A wia A1 AffP@ 53 9/ W= ad &1 2 75 garrn! @1 Jorb Rl @l gol o o o d ©iF Arhiiikes re ot § ?

[Question ID = 402][Question Description = 53_qSNz_PG_MGT_Q02]
1. Contingency/swoiderm [Option 1D = 1605]

2. System/fwuzfi [Option ID = 1606]

3. Mathematical/=firda [Option 1D = 1607]

4, Empirical/agniFermr [Option 1D = 1608])

Correct Answer :-
e Contingency/amofiereer [Option D = 1605]

3) The best level of output for a perfectly competitive firm in short run is a point where P = MR = MC, provided that

e it A goimen gierielt ool & e srae o addes 702 a8 @ =l Ot = oo oz = oa 2 §, sain .
[Question ID = 403][Question Description = 53_qSNz_PG_MGT_Q03]

1. P < AVC/p <« avc [Option ID = 1609]
2. P = AVC/P = ave [Option 1D = 1610]
3. P = AVC/P = Ave [Option ID = 1611]
4. P = AVC/P = AVC [Option [D = 1612]

Correct Answer ;-

* P AVC/P <« Ave [Option ID = 1609]

4) What is the role of advertisements and selling costs in perfectly competitive markets?

guiern gferieit arset 3 fasnusl! iz [l Sl & oo yfdeer & 7

[Question ID = 404][Question Description = $3_qSNz_PG_MGT_Q04]

1. Informative to intimate product/service availability/ srenfsr sroe / 3rr swwerT o 3zee [Option 1D = 1613]
2. Enlarging market size/awenz & ameer &1 fiwafia owan [Option ID = 1614]

3. Very essential for survival of the firm /euslt 51 ansiifenr & foe aga amegs [Option ID = 1615]

4. Influencing buyer behaviour /s aegasr & guric oz [Option 1D = 1616]

Correct Answer :-
# [nformative to intimate product/service availability/smealrs sroe / Jmr suemrm @ e [Option 1D = 1613]

5) Itis believed that employees' attitude influence their perception of work, but the employees’ experience at work may
also modify or shape their attitudes. This is an example of

A S ST & b woetandl o <aer 36 R Bl 3emv @ guifenT waar w3 ol @3l & wetard w1 sigMa 3 SIaER WOl LR
AT & AUl Jolkh IAGE Bl U RIHA ¢ Ihdl & g [kpadI s & @

[Question ID = 405][Question Description = §3_qg5Nz_PG_MGT_Q05]
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Contingency Approach/Sae=e suw= [Option 1D = 1617]
Democratic Approach/ sl soee [Option 1D = 1618]

Interactional Approach/wrsui¥e wrlenu ($e3wasicrT) swem [Option 1D = 1619]

Socie-technical system Approach/Immies - ddaidt gurcd susm [Option 1D = 1620]

oW

Correct Answer :-
e« Contingency Approach/Faesm suewr [Option 1D = 1617]

6) Which one of the following employee behaviour is NOT true in case of high stress level?

S med W oA d il deaer das d oefiBaa d A sla madt adl & ?

[Question ID = 406][Question Description = $3_qSNz_PG_MGT_Q06]

Anxiety/ R [Option 1D = 1621]
Careless mistakes/ smmemsiyni sefET [Option 1D = 1622]

Mervousness/ sz [Option ID = 1623]

Low and bad judgernental ability/Bmolr 35 @5 w sz wrm disarn [Option 1D = 1624]

bl B

Correct Answer :-
e Anxiety/ferm [Option 1D = 1621]

7) Information regarding 'personal job demands (human expenditure involved in work, such as energy expenditure)’
collected in job analysis falls in which one of the following?

I fRrdam | oofia caltbera AeeR #ie1 (SR # dosa Ao JweE, S e Sef maa) dqel e o # 31 o aelt 2 7
[Question ID = 407][Question Description = §3_qg5Nz_PG_MGT_Q07]

Work Activities/wr! fammeam [Option 1D = 1625]
Worker-Oriented Activities/wrErm seas Rmmmom [Option 1D = 1626]
Personal Requirements/mferem s=at [Option 1D = 1627]

Job Context/wr! ss=sf [Option 1D = 1628]

bl B

Correct Answer :-
o Work Activities/wr! Ppmem [Option 1D = 1625]

8) Which one of the following orientation programmes seek to ratify the usefulness of the characteristics that the person
brings to the new job?

fBrraterd¥oa 3 A wier - a1 sfhfearn orica safts @& Rigramsi St sa=aBar J yens B aier wwar 3 5t ag are Asene A ager AT AW 3TN
37?

[Question ID = 408][Question Description = $3_q5Nz_PG_MGT_QO08]
Serial Orientation/@mag st [Option 1D = 1629]

Disjunctive Orientation/Rrism afifema [Option 1D = 1630]

[Investiture Orientation/seddic affdems [Option 1D = 1631]

Divestiture Orientation/sEdedicg afifmma [Option ID = 1632]

o R

Correct Answer :-
® Serial Orientation/omag afEimmT [Option 1D = 1629]

9) In which one of the following motives, relevant for organizational climate, there is an urge to be relevant and useful to
large groups including society as a whole?

Fistoancarr aiyder @ e grifrr RBeaftdiaa # A fra afigeze & aegel ans al3a gea agsl © R suash i grefne aa wat & gaf
et & ?

[Question ID = 409][Question Description = §3_qg5Nz_PG_MGT_Q09]
Affiliation /=g [Option ID = 1633]

Influence/gama [Option 1D = 1634]

Extension/f=me [Option ID = 1635]

Achievement /3w [Option ID = 1636]

o R

Correct Answer :-
o Affiliation/=eaem [Option 1D = 1633]

10) If the market price of PQR Ltd, is 44, EPS is 3.75 and the retention ratio is 60%, then the multiplier according to
Graham and Dodd Model of Dividend policy is

afé PQR fafdies &1 aeiz gea 44 &, sdiewr 3,75 2 2z gfaemem sgqarm 60 gitrera 21, f amiier sifd & apaw silz Sis dAisa & agae s
AT el -
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[Question ID = 410][Question Description = 53_qSNz_PG_MGT_Q10]
1. 15

[Option ID = 1637]
2. 19.5

[Option ID = 1638]
3. 16

[Option ID = 1639]
4. 18.7

[Option ID = 1640]
Correct Answer ;-
e 15

[Option ID = 1637]

11) The holistic, integrated and goal-oriented process of planning, recruiting, selecting, developing, managing, and
compensating employees is known as

st orilsret, sidl, T=IerpRw, TRo ol arcll, YT ol arctt 30t gifergzor @Ot wae), udhblpn 3ile aeaisasdt giRen @ Rpwr wwu # smer
ST & 7

[Question ID = 411][Question Description = $3_qSNz_PG_MGT_Q11]

Human Resource Management /T snea gde [Option ID = 1641

Strategic Human Resource Management/Foeliffes wmaa denea e [Option ID = 1642 ]
Talent Management/smT gaem [Option D = 1643]

Human Resource Planning/ s Jamee Britam [Option 1D = 1644]

o R

Correct Answer ;-

# Human Resource Management/amme Jmmem gaerm [Option 1D = 1641]

12) Which one of the following performance appraisal methods prevents supervisors from rating all or most employees
"satisfactory” or "high"?

forraifertiae 3 ®lar i foroarcsr Rl Feaforertzor ugla forfleret o1 0l areran aifdrsior @wafardl o1 "Hdalasels” e " Plichol B0l T
Aepedt & 7

[Question ID = 412][Question Description = 53_qSNz_PG_MGT_Q12]

1. Critical Incident Method/iegfesra i3z apfy [Option ID = 1645]

2. Forced Distribution Method/afew () kawr oefa [Option 1D = 1646]
3. Paired Comparison Method/gRaa grmirass ggfi [Option ID = 1647)

4. Alternation Ranking Method/wmirmu 3Rpst wgier [Option 1D = 1648]
Correct Answer :-

& (Critical Incident Method/fRgiewma diirse waia [Option 1D = 1645]

13) In case of agency problem, the actions of managers are very likely to be directed towards the goal of

toizll e & ApK 3 gauet o orifarfzal fiew sgea &t i1z fordhir 31 wior oY aga siuae 27
[Question ID = 413][Question Description = $3_qSNz_PG_MGT_Q13]

Profit maximisation/om &t siérmEe o [Option 1D = 1649]

Wealth maximisation/suff ot aifrmiirr @ [Option 1D = 1650]
Survival and self-sufficiency /st 4z 71 - waigm [Option 1D = 1651]
Self-sufficiency /= - wafwen [Option ID = 1652]

L kad RJ

Correct Answer ;-
® Profit maximisation/zms ot sifemiter oear [Option 1D = 1649]

14) Which one of the following measures better explains inflation in an economic ecosystem?

forraifertiae 3 2t @tel w1 ufeama e wmiderferd 3 bt Bt Fun e o 8 7

[Question ID = 414][Question Description = S3_qSNz_PG_MGT_Q14]
1. GNP deflator/sh v df anaRFaferesms [Option 1D = 1653]
2. Wholesale Price Index (WPI)/ 2/ 30 Jmiee (scg dl amg) [Option 1D = 1654]
3. Consumer Price Index (CPl)/3mirer = Iaeis (28 & a) [Option ID = 1655]
4. Rate of change in GNP deflator/sit ga it smBei?rerrs 3 ubada & 22 [Option 1D = 1656]

Correct Answer :-
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& GNP deflator/sh v d sfFerfeepmes [Option 1D = 1653]

15) Du Pont analysis formula involves which financial elements for computation of earning power?

g dic [Rrciuor 3 # Iumster serar &1 swmin Wl O e R Rl aval 1 afdaioa Koo soen 8 7

[Question ID = 415][Question Description = 53_qSNz_PG_MGT_Q15]

1. Net profit margin, Total assets turnover and Equity multiplier/ gz s, g ai¥sif srad Jfi =R spre [Option 1D = 1657]
2. Total assets turnover and sales turnover profitability /o smfer s 3 Reger smend =mameer [Option 1D = 1658]

3. Profit margin, Sales turnover and Asset-use efficiency /o=, Rrmr smd # oyl - gEier serr [Option 1D = 1659]

4. Total assets turnover and Equity multiplier/ o ulisnfT st iz =Rt s [Option 10 = 1660]

Correct Answer ;-
o Net profit margin, Total assets turnover and Equity multiplier/ s msnoer, wgm afssaf et i sfed spre [Option 1D = 1657]

16) Following information is available for the year 2018 and 2019 of ABC Ltd:
Year 2018 2019

Sales Rs.32,00,000 Rs 57,00,000

Profit/(Loss) (Rs. 3,00,000) Rs. 7,00,000

Calculate P/V ratio

aef 2018 3fiz 2019 @ fere ABC feridies 31 it formifeiRaa smen sucser & &

ad 2018 2019
ferst . 32,00,000 ®. 57,00,000
o / zifel (= 3,00,000) . 7,00,000

P /V amgpura &bt swrer @8 |

[Question ID = 416][Question Description = 53_qg5Nz_PG_MGT_Q16]
1. 40%

[Option ID = 1661]
2, 16%

[Option ID = 1662]
3. 28%

[Option ID = 1663)
4, 12%

[Option ID = 1664]
Correct Answer :-
a 40%

[Option ID = 1661]

17) Which methods of risk analysis better serve lender’s perspective in the capital budgeting decisions?

ferawor w1 @i A1 ko1 Ysil asiider fowia # spoer o ubyqe= w1 307 demz Uer e & ?
[Question ID = 417][Question Description = 53_qSNz_PG_MGT_Q17]

1. Risk Adjusted Discount Rate /S FoEiom = o= [Option ID = 1665]

2. Certainty Equivalent approach /fafimer Zxmesr afdsm [Option 1D = 1666]

3. Simulation and Sensitivity analyses/ sgmaur sfiz Secesiiorn fecma [Option (D = 1667]
4. Decision Analysis/Bmfr Fedmor [Option ID = 1668]

Correct Answer :-
® Risk Adjusted Discount Rate/sifEwr swranfSm oe o= [Option 1D = 1665]

18) As per Walter’s model, the market value of a growing firm will increase if the dividend payout ratio is

dicez Aisel d iR fpall it wal @1 arsie He forgol 3 3 oo amiigr sferdrer et f ag sirar 87
[Question ID = 418][Question Description = $3_qSNz_PG_MGT_Q18]

Increased/as gan [Option ID = 1669]
Decreased/mer g3 [Option 1D = 1670]
Constant/RBer [Option ID = 1671]

. 100%/100 % [Option ID = 1672]

L kad R
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Correct Answer ;-
¢ |ncreased/agI g3n [Option ID = 1669]

19) In the absence of covariance among securities in the portfolio, if each security has an average standard deviation of

20%, the portfolio of 100 securities would have a standard deviation of
afe déeifern # gienderal J asgere 6 Sz digssh & Hfiv al’ gede gfenfer &t siera wowr Raas 20 % & aa 100 giemfeal @ adoiferd
oI Al el Rden glst ?

[Question ID = 419][Question Description = §3_qg5Nz_PG_MGT_Q19]
1. 2%/2 % [Option ID = 1673]

2. Zero/gg= [Option 1D = 1674]

3. 20%/20 % [Option ID = 1675]

4. 5%/5 % [Option ID = 1676]

Correct Answer -
e 2%/2 % [Option ID = 1673]

20) The relationship between an investor's expectation of return on bonds with respect to the investment horizon is called

giz uz gfengiiy ot foraere snasiginaii oI foraen 2iam & sic @ diar o1 Hder @aora 2

[Question ID = 420][Question Description = $3_qSNz_PG_MGT_Q20]
Bond yield fais =fies [Option D = 1677]

Yield to maturity/zafrassm a=r (s ¢ #mnisdd) [Option ID = 1678]

Risk immunization /s gfesanr [Option (D = 1679]

Term structure of interest rates/ser o2t &1 a@fl dsgan [Option 1D = 1680]

a2

Carrect Answer :-
#* Bond yield/atz =ite= [Option D = 1677]

21) usually have intensive distribution because sales of these products tend to have a direct relationship to
their availability

___ 3rUIG] Bl HIAGIA: J1gel faawer g 2 oriifts o1 Jrurel <6t faa) @1 Hien sider Jorhl sumarr uz nlz oam &

[Question ID = 421][Question Description = 53_q5Nz_PG_MGT_Q21]
Convenience Goods/Jsprt & Siaw © sxmm &G areft axgd [Option D = 1681]

Speciality Goods/fifgre axq [Option 1D = 1682]

Shopping Goods/ giftsr gza¥ (¢iftsr sgar) [Option 1D = 1683]

Unsought Goods/smmiRr a=gd [Option 1D = 1684]

oW R

Correct Answer :-
e Convenience Goods/3=wr © Situe @ ssieme 2 aret axge [Option 1D = 1681]

22) Which phrase best completes the statement below?

One of the key tasks of a marketer is to and to create a perception among consumers that the product is

worth purchasing.

feoRp (#rbc?) @1 e Yias BRI & 3iiz oruG @ Tdicol @ BRSO 9R A e @ Yrasl S @l YR e &

[Question ID = 422][Question Description = 53_qSNz_PG_MGT_Q22]

1. Make products easily visible and available /SRR 3ruw el 3 G2 36 3ilz Jucrs & 2y [Option 1D = 1685]

2. Promote sales of products/smn<i £5t Rrelt a5 3 [Option 10 = 1686]

3. Differentiate their products from those of competitors/sard srne o gigiat @ sro 3 s fwn oo s [Option 1D = 1687]

4. Do market surveys/ i3 arz Fia fimn 5T 35 [Option D = 1688]

Correct Answer ;-
o Make products easily visible and available /a3 srow apastt 3 Bea =8 3z sooey & 3w [Option 1D = 1685]

23) When companies offer products in small packages or charge on a pay-per-use basis, then such strategies are part of:

e kRl FrurGl ®I Sie-pie kbl # Ul 3 3 3 e U-a8-gsl FRI BGlaAdl @l a3e 3l 3l a9 33 YR 6 weliirl Rsexor swmer skt 27
[Question ID = 423][Question Description = 53_qg5Nz_PG_MGT_Q23]

Regionalisation strategies/drflumm wmiiel [Option ID = 1689)

Strategies for the Bottom-of-the Pyramid/«ics afiw {2 Frifds o Be wEtfrE [Option D = 1690]

Strategies for competing with global companies/afass ofasl 1 vaEsa & e et [Option (D = 1691]
Strategies for internationalisation/dsdiesyor &3 Jowfiiced [Option ID = 1692]

ol B

Carrect Answer :-
& Regionalisation strategies/gidieesor wfifeml [Option ID = 1689]
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24) At the business level, organisations need to position their business as being Low-cost leaders or Differentiated. The

position when cost leadership is high in terms of lower prices/lower costs and differentiation is low, is called:

TRIGIRT FrIZ O3 FHe1ooell 1 el s et o) v amea o disy wa 3 semr Heear @d @ su 3 ora 78161 361 oreea sl 8 3w amE
olged A Blaa/oa aer © Fe d ARRe gl § Ten it SYe 8N & a9 33 TI el Al & ¢

[Question ID = 424][Question Description = 53_qSNz_PG_MGT_Q24]
1. Focused Cost Leaders/Fafon ofee dsz [Option ID = 1693]

2. Cost Leaders/wize =isz [Option D = 1694]

3. Differentiators/Reew [Option D = 1695]

4. Focused differentiators/sdfbg figm [Option ID = 1696]

Correct Answer ;-
e Focused Cost Leaders/srisfosn =i oz [Option 1D = 1693]

25) The process of converting a non-productive, inactive asset into a productive asset by selling receivables to a company
that specialises in their collection and administration, is described as

ufsziafrril & FHeEur siiz genzra # forgur ezl @usil = gt & Rl & e 2 el soure, faftaa aftsiufy @ saoes ufrsufa #
alyafefa wear & gt weardt 2 7
[Question ID = 425][Question Description = 53_qSNz_PG_MGT_Q25]

1. Credit administration/ar genaa [Option ID = 1637)
2. Factoring/deerd cam-tga [Option ID = 1698]

3. Receivables management /g geas [Option ID = 1699]
4

26) "Moments of Truth” in services marketing was given by:

Afd anasiéat 3 "Hidoe Jife g oo g Rar srn 8 :

[Question ID = 426][Question Description = $3_qSNz_PG_MGT_Q26]
1. Jan Carlzon/3ma Feiaia

[Option ID = 1701]
2. Rosser Reeves/337 3o

[Option ID = 1702]
3. Parasuraman and Zeithamal/osgsser dfiz Some

[Option ID = 1703]
4, Gary Armstrong/3# sz

[Option ID = 1704]
Carrect Answer :-
& Jlan Carlzon/we TeiAia
[Option ID = 1701]

27) Which one of the following tasks is NOT expected to be performed in Sales Management?

feafl yeera # ProlciiBan # A wis 3 orl Rear smen amifdea -5t 2

[Question ID = 427][Question Description = 53_qSNz_PG_MGT_Q27]

Formulating sales policies/Rrm drdisirt o Gt [Option (D = 1705]

Designing sales territories/RErgidny ot Bamser ween [Option 1D = 1706]

Selecting and recruitment of salesforce/ Bl wrf wer wr wrrm Az sorbt sl [Option ID = 1707]

Determining the selling price of the firm's products/wd @& 3rast & faeg @61 Flm =1 frafew 59z [Option (D = 1708]

b B

Correct Answer :-
® Formulating sales policies/fRmg dekfishfer & Fmfor [Option D = 1705]

28) In the retail industry, a 'Category Killer’ is referred to as:

Ges 3Eiel d Dol Roe' 53t wishia waar & ?
[Question ID = 428][Question Description = 53_q5Nz_PG_MGT_Q28]
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| 1. A multi-category large discount store that is famous for its wide selection of products/wes ag-dpft (Fedidicor) a2 gg sier (¥R) o Iroe! & gas o9 &
gfag 2 [Option (D = 1709]
2. A speciality store wedded to discounting and domination of a product category/ e fisre 3212 &l izt srus goit &1 oe JE guer & B giimg @ [Option
D =1710]
3. A store in a residential area and offers all household goods and fresh groceries/ =it Rarel sords # 325 me0 5 o] TP $ite ARl 21e-FEsrEt 00 Seik @1
gt e & [Option 1D = 1711]
4. A unique 24/7 store located on major highways and also located in fuel stations/wr Rigee 24/ 7 w7 5t veEr et o $oerud (ege SeoEl) I e @Rt 2
[Option ID = 1712]

Correct Answer ;-
o A multi-category large discount store that is famous for its wide selection of products/ s ug-dpft (ardhiicerd) @ g disw (FT0R) S IruE! © gas @wmmE 2
giig &t [Option D = 1709]

29) When is the finite population multiplier expected to be approximately equal to one?

i3 Soizdl KRG @ T TI9THET W @ 316 Blol w1 Il 36l & 7

[Question ID = 429][Question Description = 53_qSNz_PG_MGT_Q29]
- N> 200/N = 20n
[Option ID = 1713]
2. N > 300/N = 30n
[Option ID = 1714]
3. N = 10n/N = 10n
[Option ID = 1715]
4 N = 40n/N = 40n

[Option ID = 1716]

Carrect Answer :-
* N = 200/N = 20n

[Option ID = 1713]

30) Which of the following is true with regard to method of least squares used in simple regression analysis ?

T B Redsan 3 sgea fmcoet adiis & Hder 3 fower d 21 oier 31 3181 8 7
[Question ID = 430][Question Description = $3_q5Nz_PG_MGT_Q30]

1. It minimises the sum of the squared values of the independent variable /s F@n a= o g ara 4 =EFa ot sefn & [Option ID = 1717]

2. It minimises the sum of squared differences between the values of independent variable and their mean/az g @2 @ a0 3R 3070 me @ dig @
weifrr sz Bl amp i g Srr £ [Option ID = 1718]

3. It minimises the sum of the squared differences between the actual values of dependent variable and the estimated values of the dependent
variable as per regression equation /s g @i (BipE sdem) © agee snfert o2 3z sy e o sepnbn s A © ek Fr St o oz a2
[Option ID = 1719]

4. It minimises the sum of squared values of the dependent variable/== anfgfy 92 & el o S wg =1 SR w2z &m & [Option 1D = 1720]

31) In statistical quality control, the expected process variation (natural tolerance) is commenly taken
to be

iReT® 1[G Tord Haa0 § AT Ui [3eRor (FRiuiide SieSn) SH=aadl &1 8idl 87
[Question ID = 431][Question Description = 53_qSNz_PG_MGT_Q31]
“utlo/u+loe
[Option ID = 1721]

2 n4t20/u+20
[Option ID = 1722]

> p+30/u+30
[Option ID = 1723]

4. ts/\ﬁ_ﬁ!t J_rs/\ﬁ
[Option ID = 1724]

. Curmct Answer .: i

*ntlo/u+ie
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[Option ID = 1721]

32) Who is widely credited for placing Japan as a world leader in the quality of its manufactured
products?

IUH Bl Y- R STl $1 Jured | 3@ Agd @ Rufa & aF o1 99 6 i3 s &2

[Question ID = 432][Question Description = 53_qSNz_PG_MGT_Q32]
1. Schonberger R. J./¢lmwrdz, ame &t [Option ID = 1725]

2. Deming W.E./3fp1, w4 [QOption D = 1726]

3. Juran J.M/FmE, 3w [Option 1D = 1727]

4, Goddard. W/eisr sw=[Option 1D = 1728]

Correct Answer :-
& Schonberger R. ). /¢lomsiz, sz & [Option ID = 1725]

33) A transportation problem with m origins and n destinations becomes a trans-shipment problem
with

m-3%8 3R n-Too3 § Tafta gfae oo fpod Oy ¥ U IR0l 9O 99 Skl & 7

[Question ID = 433][Question Description = 53_qSNz_PG_MGT_Q33]

1. {m + n) sources and (m+ n) destinations f’(m+n}|??ﬁ?‘i &h(mmj?’i-ﬂ_ﬂq
[Option ID = 1729]

2. (m + n — 1) sources and equal number of destinations /{m+n-1) kT wen st $ FEm HE=0
[Option ID = 1730]

3. {m — n) sources and (m — n) destinations /(m-n) T 3R (m-n) TId

[Option ID = 1731]
4. (m + n— 2) sources and (m + n —2) destinations /(m+n-2) id AR (m+n-2) Tided

[Option ID = 1732]

Correct Answer :-

® (m+ n) sources and (m + n) destinations /{m+n) FId AR (m«n) Ted

[Option ID = 1729]

34) When is a firm not expected to prefer FDI to licensing?

AR & e od @I BH Uk, Sleng. & aftadi el &l 2

[Question ID = 434][Question Description = $3_qg5Nz_PG_MGT_Q34]

1. The firm has valuable know how that cannot be adequately protected by a contract/wd @5 urr agae sterpRt (Frer) 2kl & PRl Jfer Zer oft ase Ipfm ad
IE0 51 Il ¢ [Option (D = 1733]

2. The firm needs tight control over a foreign entity in order to maximise its market share and earnings in that countryf3sr & sl AR Te0 arR SRR T

TEE O IS A WGl yual T Seit d Rer gl v @t s Bwige zawit & [Option ID = 1734]

The firm faces high transportation costs and tariffs/wusit za nieas aew i Aer-ger @ oo a7t 2 [Option 1D = 1735]

4. The firm's skills and capabilities are difficult to replicate in a foreign market/Freft awm # wa o wive s smrm @ yaks o #fdwes a2 [Option ID
= 1736]

fad

Correct Answer :-
& The firm has valuable know how that cannot be adequately protected by a contract /o o uny sz srereid (suer) ekl 2 a3 aifeT s ot ros gefder =&
&0 =1 awm & [Option (D = 1733]

35) In the context of Data Mining, which one of the following is a method of Data Reduction?

3el aAsleisl & ey i 31 frsava =1 owgal # 3 ®la-a11 ob allke1 & ?

[Question ID = 435][Question Description = §3_qg5Nz_PG_MGT_Q35]
Normalization/ gameiiao [Option ID = 1737]

Data Compression/2er ©igwe (ddisa) [Option ID = 1738]

Multiple Regression/agi gesma [Option 1D = 1739]

Qutlier Analysis/afai=t Rpadwm [Option ID = 1740]

T

Correct Answer :-
® Normalization/gamer=ise [Option 1D = 1737]

36) In the context of the International Monetary System, the case for a fixed exchange rate regime claims:
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Maetedtr g1 guielt &5 e 3 v faiflaa fafomrr 27 <= @1 s w1E o @wwa § 75

[Question ID = 436][Question Description = §3_qg5Nz_PG_MGT_Q36]

1. The need to maintain a fixed exchange rate imposes monetary discipline on a country /iR RFER o2 © orm 7@ 6 #io S # Al JEEnsE oE 2

[Option ID = 1741]
2. The goods and service manufactured in the country becorne more competitive in international markets/Sar 3 srmfzer am A 3w srpertcr aEme # aga

gierraelf 2t smet & [Option 1D = 1742]
3. Floating exchange rate regimes are vulnerable to speculative pressure/ofFdschia Rfsem o oxawen s=malss gam & 2 3 (gogam) 2t & [Option (D

= 1743]
4. Far from correcting trade imbalance, depreciating a currency in the foreign exchange market tends to cause price inflation/ e smigee =1 SiF
@ Mfeiies feed yg oo @1 Rigolt fiferr s 3t @ 8 3 e giis @xht 2 [Option ID = 1744]
Correct Answer :-
® The need to maintain a fixed exchange rate imposes monetary discipline on a country /fitr RiSeeE o3 @t TR 38E &t 9 S 3 ilfes JFeaRe ok 2
[Option ID = 1741]

37) The computer system most likely to be used by a large bank for the savings account of a customer would be:

vl a2 Fos Zrer pswt @ gaa wa @ fore seae Bt ser archt deorw (wasges) el s g & Seh 7

[Question ID = 437][Question Description = 53_qSNz_PG_MGT_Q37]
1. Anon-line, real-time system/ww fier-cosa, B o groett [Option 1D = 1745]

2. A generalized utility system/ v amrei swiErT gooett [Option 1D = 1746]

3. A batch processing system/ew do damm (Gt gomd [Option 1D = 1747]

4. A direct access database system/oe grast afiesme Serm gonedt [Option [D = 1748]

Correct Answer ;-
& An on-line, real-time system/ o sliw-a5a, e zEH goued [Option ID = 1745]

38) Which one of the following is NOT desirable while handling a grievance?

OrprRI @0 @ St BeoiftiRaa d A i aivolg st & ?

[Question ID = 438][Question Description = 53_qSNz_PG_MGT_Q38]
1. The union will identify specific cantractual provisions allegedly being violated/zRrr Zi i @5t 3o Ffiee gl &t uexra Teen et B B0 3 et

e = 71 @t [Option ID = 1749]
2. Make arrangement with individual employees that are inconsistent with the labour agreement/ g7 T2 3 39T 291 I8 THOILER 3 J00 700 T30

[Option ID = 1750]
3. Hold the grievance discussions privately/Brorrn 5t Bl @@ amen [Option ID = 1751]
4, Examine the grievant personnel's record/frorrrrrt @ ks Yo & =t [Option 1D = 1752]

Correct Answer :-
& The union will identify specific contractual provisions allegedly being violated/ fErmr gror zifter &t 3= Ritre i) &t geam e Biorot witn w9 3 sooia=
femar @ 3= 2 [Option 1D = 1749]

39) Entrepreneurs who are characterised by a refusal to adopt opportunities and make changes in production systems even
if it affects the returns of the organisation are called

a1 Izl oI STurcsl wraTen 3 Al Bl IET ool iz ufradcl el A Hen S B e arar 3t s[afcs A HeIed B s o gufaa @
¥l &, O5 ool § |

[Question ID = 439][Question Description = 53_qSNz_PG_MGT_Q39]
1. Fabian Entreprensurs/wifrm s=mt [Option 1D = 1753]

2. Life timers entrepreneurs/osw crat 3=t [Option 1D = 1754]

3. Imitative entrepreneurs/mrodt 3= [Option ID = 1755]

4, Drone entrepreneurs/smrt s=E [Option (D = 1756]

Correct Answer :-
e Fabian Entrepreneurs/oifirm 3= [Option [D = 1753]

40) Which one of the following is NOT a part of the current account of a country's balance of payments?

foramfeifian 3 2 oo Rzt 291 & y=na dgoa & o T @ R adi § 7

[Question ID = 440][Question Description = §3_qg5Nz_PG_MGT_Q40]
1. Import of Goods/aegall & s [Option ID = 1757]

2. Portfolio Investment /dfmierh g [Option 1D = 1758]

3. Investment income/faragr s [Option ID = 1759]

4. Export of Goods/azgali @1 srda [Option 1D = 1760]

Correct Answer :-
e [mport of Goods/a=gal o ammwr [Option 1D = 1757]
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41) A price ceiling below the equilibrium price of a commeodity leads to

A. Commaodity glut in market
B. Shortage of commodity

C. Demand erosion

D. Black marketing

Choose the correct answer from the options given below:

Tl D AR Yo B ofid Foaad Jod 3R &, fordot 31 3 vy a0 3 wiem A 8 7
A. 51 #H T il Bl s

B. s &t wall den

C. @iE1 3 @t amon

D. wromsrd

oiil 18 =1u famcul # 3 A8 iz @1 oI BT 2

[Question ID = 441][Question Description = §3_q5Nz_PG_MGT_Q41]

A and B only/dwm A &z B [Option ID = 1761]
B and C only/aswr B diz C [Option 1D = 1762]
B and D only/axwT B diz O [Option 1D = 1763]
A and D only/@ae A iz D [Option ID = 1764]

b B

Carrect Answer :-
* Aand B only/dgm A3 B [Option ID = 1761]

42) The essential conditions for price discrimination practice to succeed in different markets are
A. Firms must have strong interdependence per se

B. Firm must have some control over the price of the product

€. Differentiated products and strong entry restrictions

D. Price elasticity of demand must differ in different markets

E. Markets for the products must be separable

Choose the correct answer from the options given below:

fftyear et o Awe Bl 3 e oot sy @ e sraus Raferit 3 :
A. et T amas # ST 3R AR srE Elen

B. wuelt @I srurc &l Blerm uz o BRI ame= sion

C. Riidre sraE Az areaar gaa ke

D. dis1 Gt g grarzer fRfice asmt # oo gon

E. 3rme @ o ereie sraga gerwpaviiRg &t

ol f8u a1e Repoal 9 31 w18t 30w @l o=m Wifans :

[Question ID = 442][Question Description = 53_qSNz_PG_MGT_Q42]

A, Band C only/zmm A, B 3iiz C [Option [D = 1765]
B, Cand D only/@rm B, C 3z D [Option ID = 1766]
C, D and E only/dam C, D 2 E [Option ID = 1767]
B, D and E only/&aer B, D afiz E [Option ID = 1768]

o B

Carrect Answer :-
® A BandC only/gam A, B 3fiz C [Option ID = 1765]

43) Which of the following are creative problem solving characteristics of effective managers?
A. Cognitive style

B. Conceptual blocks

C. Divergent thinking

D. Activity balance

Choose the correct answer from the options given below:
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guredt geerst B yorencns warn B Ridraand Broifedaa § A oia A & ?
A. soteaas dicht

B. g oA

C. fiwo

D. Rparpoma sgeret

i) f8u a1e Rrpoul 9 31 w18t Fne @l o=m ifans :

[Question ID = 443][Question Description = 53_q5Nz_PG_MGT_Q43]

1. Aand C only/axwT A itz C [Option ID = 1769)
2. Band C only/@aer B &z C [Option ID = 1770]
3. A, Cand D only/@aer A, C 3fiz D [Option ID = 1771]
4. B, C and D only/d5am B, C afiz D [Option ID = 1772]

Carrect Answer :-
& Aand C only/@aa A &tz C [Option ID = 1769]

44) The term 'Flexible Manufacturing Technology' or 'Lean Production’, covers a range of manufacturing technologies
designed to:

A. Become compliant with government regulations

B. Reduce setup times for complex equipment

C. Increase utilization of individual machines through better scheduling
D. Improve quality control at all stages of the manufacturing process

Choose the correct answer from the options given below:

oreg ‘oot fiforafor el sterar sroRIta svurca faforaiur aachiat & ves ufyraz (351) 3 aremifea gvan w6 fowas fomm afirsfeaa 2 ;
A, Tl faformEl @ U e

B, @ifee qumanll @ fore forerfiya werT o o0 oen

C. Agaz forerfzor &5 suezian 3 Ta=i G wofleit B u=RTar agen

D. fafsrator gftgen & it w3t uz s Grigqur =Y Fenzen

ol 166 s1e faapedl 3 2 7 Fre &1 aae Hifag ¢

[Question ID = 444][Question Description = $3_qSNz_PG_MGT_Q44]

1. A, Cand D only/d@aa A, C afiz D [Option 1D = 1773]
2. B, Cand D only/dsae B, C 3z D [Option ID = 1774]
3. Aand D only/aaa A &t O [Option ID = 1775]
4. Band C only/o5e B 3z C [Option 1D = 1776]

Correct Answer :-
o A, CandDonly/a@swe A, C 3= D [Option ID = 1773]

45) Theory of international trade promotes

A. Increase in demand for exportable products

B. Rise in prices and volumes

C. Improvement in quality of products

D. Reduction in prices and increase in quality for consumers

Choose the correct answer from the options given below:

siiedar semurz & Rigia sgrar 2a €

A, Rrafa dwa seuret @ fere aist af giy

B, Pzt iz uftanvil/ afyamr i sah

C. sewiei &t spraan a gl

D. Susirepialt & fore Hiawit I @it aiiz spuraar ¥ gfy wven

sl 2w s1¢ fameal 3 21 3El ST o1 w’Ia Hifaw

[Question ID = 445][Question Description = $3_qSNz_PG_MGT_Q45]
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A, B and C only/&am A, B 3z C [Option ID = 1777]

A, C and D only/sae A, C &z D [Option ID = 1778]
B, Cand D only/@aa B, C sz D [Option ID = 1779]
A and B only/@wc A dfm B [Opticn ID = 1780]

oW

Correct Answer :-
o A BandC onlyf@am A, B afiz C [Option 1D = 1777]

46) To achieve its aims in Strategic Human Resource Management, organization's formulate and execute Human Resources
A. Policies

B. Behaviours

C. Practices

D. Competencies

Choose the correct answer from the options given below:

WIGiifres Jera HATLE Yatlel 3 Auel 329 If @ féu Fieteal fober woradeE @t yferafea wa fpenfoad ox £ 7
A, ofifern

B. =Mz

C. a3 (Gfrais=)
D. =T

i1 féw s1e faascal aF 31 A Inz o wRIa i

[Question ID = 446][Question Description = 53_qSNz_PG_MGT_Q46]

A and B only/@c A dfm B [Opticn ID = 1781]
A and C only/dae A &tz C [Option ID = 1782]
B and C only /@ B stz C [Option 1D = 1783]
A, B, Cand DA, B, C diz D [Option 1D = 1784]

oW R

Correct Answer :-
® A and B only/@ae A &2 B [Option ID = 1781]

47} The salient features of Zero Base Budgeting are:

A. It is a decision oriented approach

B.The decision unit is broken into understandable decision packages which are ranked according to importance
C. The responsibility is shifted from top management to the manager of the decision unit

D. It is an accounting oriented approach

E. Top management decides why a particular amount of money should be spent on a particular decision unit

Choose the correct answer from the options given below:

olca - LNy Seica Bt FE= fagnaam 2

A, aE Towicam surw 3

B. forfa sooré @1 dear fowfa tabsil & fafen o7 sgva & amenz gz Jore1 @@ faifea fean s 2
C. 3=a g 3 ol 3o & gaers Uz saswiiima Feetiaisa 2t o 2

D. @& cArsiled: IUPH 3

E. 3=a gaere fomfa orar 2 fos fossht fadm fofa oo uz o1 fadw werefdl o=t mel ol anfde
olfar 166 s1e famsedl 3 2 FE Fre &1 ae DHifag ¢

[Question ID = 447][Question Description = $3_qSNz_PG_MGT_Q47]

A, B and C only/@ae A, B 3tz C [Option ID = 1785]
D and E only/dae O afiz E [Option 1D = 1786]
A and B only/@am A& B [Optien ID = 1787
C, D and E only/=@= C, D &z E [Option ID = 1788]

Y e

Correct Answer :-
e A, Band C only/@am A, B sz C [Option D = 1785]

48) The formula for calculating Degree of Operating Leverage {DOL) are:

% change in EBIT

LT 1

A.DOL =
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ru LIIGIIEE LI SISO

Contribution
B. SO R X b
DOL EBIT
C. DOL = EBIT + Fixed cost
' - EBIT
EBIT
D. AT A
2ok Contribution

Choose the correct answer from the options given below:

SR fTaest (DOL) Bt IO BT BT T 8 ?
o DALz %EBIT i 9¢1d

w.faml dagaa

e
B.DOL = g7

EBIT + Figmara
EBIT

C. DOL =

EBIT

D.DOL = ey

41 feu e fadm et J ¥ 9l Ik &1 I i ;

[Question ID = 448][Question Description = 53_qSNz_PG_MGT_Q48]
1. A, Cand D only/sm A, C &z D [Option 1D = 1789]
2. B, Cand Donly/dmm B, C afiz D [Option ID = 1790]
3. A, Band C only/aam A, B 3z C [Option D = 1791]

49) Funds flow and Cash flow statements are important managerial tools and help the firm to know:
A, Liquidity position

B. Capital expenditure incurred

C. Dividend paid

D. Extent of external financing

Choose the correct answer from the options given below:

fo1f?1 yarg sz srpdl yare Tael deragui Ydtrbia 3uwmn & faord w1e1d yiaeoe ©f _____ Jlielol d AeRE Ricrd &
A, azaa & Baf

B, gsh ==t

C. [&an srn cmier

D, =z Rnilas &1 ang

olil 6w a1z [awcdl d 3 Hdt v @I wRs i ¢

[Question ID = 449][Question Description = §3_qg5Nz_PG_MGT_Q49]

1. A, B and C only/@=m= A, B 4 C [Option [D = 1793]
2. B, Cand Donly/@am B, C 4w D [Option ID = 1794]
3. Aand Donly/am A i O [Option 1D = 1795])

4, A, B, Cand D/A, B, C &tz D [Option 1D = 1796]
Correct Answer :-

e A, BandC only/<mm A, B 3z C [Option (D = 1793]

50) Portfolio theory provides a normative appreach to investing based on which of the following assumptions?
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A. Risk-return spread is uniform for all asset classes

B. Investors are risk-averse

€. Market risk pricing is identical for all investors
D. Return on assets are normally distributed

E. Uniform investment horizon

Choose the correct answer from the options given below:

diIFpIicEn Brgia Bre & Rie oo Prmerr smem gem e § St foa A A Row sngara uz snenfya skm 3 -
A. wsft ubrialR oot 3q aif3as - gt ot Bt 8

B. forronm sitfiam fresr ant 8

C. w9ft ferdorpl & Ry aeme si¥as #ca v T i &

D. ufsiufzri Bt gitrgit ameme<aa: et arft 2

E. v sdmal foraer wae i

oiil few a1z [awedl d 3 Ht v @I wRs Hifae ¢

[Question ID = 450][Question Description = $3_qg5Nz_PG_MGT_Q50]

A, B and C only/@== A, B iz C [Option D = 1797]
B, Cand D only/omm B, C 3z D [Option ID = 1798]
C, D and E only/zrm €, D &z E [Option ID = 1799]
A, Cand E only/@m A, C 3z E [Option D = 1800]

oWk b2 o

Correct Answer :-
e A, BandC only/sam A, B 3fiz C [Option ID = 1797]

51) Out of the following, which are the most common error committed by Entrepreneurs?
A. To anticipate roadblocks

B. No commitment or dedication

C. Proposing market niche (Segment)

D. Lack of demonstrated experience

E. No realistic goals

Choose the correct answer from the options given below:

formteifian 3 ©iar it sefird Zm gitmg waif?es aemee gl o 2 ;
A, acizreni @1 Yaleas

B, o gftiagan arerar werdor @8t

C. aFIR & JUTe Ferd (HEs) o Y

D. ychifa smpa &t ol

E. @enefarél 3Zoat 1 oiél Elon

ol 12w a1v taascal 3 31 7 FrT @1 @Il DI ©

[Question ID = 451][Question Description = $3_qSNz_PG_MGT_Q51]

1. A, B and C only/@ae A, B 3tz C [Option ID = 1801]
2. B, D and E only/=== B, D sfiz E [Option D = 1802]

3. C, Dand Eonly/@am €, D 4w E [Option ID = 1803]

4, B, C,DandE only/dww B, €, D #iz £ [Option ID = 1804]

Correct Answer ;-
e A, BandC only/<mm A, B sz C [Option D = 1801]

52) ldentify the drivers for increased Foreign Institutional Investment flows in Indian stock markets in recent times
A. Covid-19 pandemic driven liquidity outflows from the western capital markets

B. Geopolitical supply chain relocations

C. Increased India weightage in MSC| Emerging Market Index

D. Steep decline in interest rates in large market friendly economies

E. Favourable risk-reward ratios in Indian stock markets
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Choose the correct answer from the options given below:

acieel T # Wl i Arbe A Riell dvuforr Brg yae @ agel ax arrs! & usaa o3 ¢
A. s - 19 smard & ael gelt amme 3 gam o1 afisiae Ren

B. sifeiiferr - sewiifrr smgft giwor @ ger: Fera fBiedaor

C. 3 MSCI (wanasitong.) som Jawie d sk siffpne o1 agon

D. a3 asme - Bsdl sreicaaransi # s o sliine Bren

E. sirita +<ion waercist # agkpe sifad - 3R 3l

ol f8u a1e Repoal 9 31 w18t 30w @l o=m Wifans :

[Question ID = 452][Question Description = 53_qSNz_PG_MGT_Q52]

A, Band C only/@mm A, B aiiz C [Option [D = 1805]
C, D and E only/@mm €, D &z E [Option ID = 1806]
B, C and D only/s=m B, C 3fiz D [Option 1D = 1807]

o B

53) MNotable myths about Entrepreneurs and Entrepreneurship are
A, Entrepreneurs are academics and social misfits

B. Entrepreneurs must fit into an ideal profile

C. Entrepreneurs are doers and thinkers

D. All Entrepreneurs need is money

E. Entrepreneurs are not born but made

Choose the correct answer from the options given below:

et sfiv Jermofterar @ any & scdtwehy fhaw E -

A. zerft s S Aenfee Fa A soprEs 3

B. senfl v angol qrerser o sas &0 3

C. Fenit @ waldl sy Riow 81a 3

D. wsft sarfiril & arrourasear wey &

E. 3enil soa 31 ol 3 aftw 9o &

ol f8u a1e Repoal 9 31 w18t 30w @l o=m Wifans :

[Question ID = 453][Question Description = 53_qSNz_PG_MGT_Q53]

A, B, Cand D only/wm A, B, C iz D [Option 1D = 1809]
B, C, D and E only/gme B, €, D 4iz E [Option ID = 1810]
A, B and D only/aam A, B 3iiz D [Option 1D = 1811]
C, D and E onlyf&aar C, D afiz E [Option 1D = 1812]

ol o

Carrect Answer :-
o A B, Cand D only/@aa A, B, C &tz D [Option 1D = 1809]

54) The reasons why firms enter into strategic alliances are:
A. Enter new markets

B. Abide by government regulations

C. Reduce manufacturing costs

D. Developing and diffusing technology

Choose the correct answer from the options given below:

farrar & A Fva wrvil @ gan vl srodtm yoehftril srooredt 37
A. &g arsns 3 gaer wor @ forg

B. srvoord ffswrme w1 arrst wa @ forg

€. foraior ol wa oyt @ g
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D. el @ Rresia od Hena @ e
ol v s1e frweal A A T8 3av o1 aaa Hibe :
[Question ID = 454][Question Description = 53_q5Nz_PG_MGT_Q54]

1. A, B and C only/gae A, B afiz C [Qption D = 1813)
2. B, Cand D only/ss=m B, C dfiz D [Option ID = 1814]

3. A, Band D only/gam A, B 3fiz D [Option ID = 1815]

4. A, Cand D only/@ae A, € 4z D [Option ID = 1816]
Correct Answer :-

& A, Band C only/@ae A. B 3tz C [Option ID = 1813]

55) Out of the following, which are the CORRECT forms of Product Life Cycle;
A, Bell-shaped PLC

B. Scalloped PLC

C. Cycle-Recycle PLC

D. Growth-Slump PLC

Choose the correct answer from the options given below:

ITUIE Siidorad @ awull & #él U bpefafma A A S - A F 7

A, Tt o (et givs) dluelst

B. srgm o di.uerl.

€. Tayr - gor: Tayor dioea .

D. Rwm - Pre dheasi.

oflY R 1w Rraseal 3 31 18 307 o awer S :

[Question ID = 455][Question Description = 53_qSNz_PG_MGT_Q55]
1. A,B,Cand D/A, B, Caiz D

[Opticn ID = 1817]
2. B,Cand D only/da=m B, Cafiz D

[Option ID = 1818)
3. A, CandDonly/asr A, Calz D

[Opticn ID = 1819]
4. A,Band C onlyf@am A, Bafiz C

[Option ID = 1820]

Correct Answer :-
o A B Cand D/A, B, CdiizD

[Option ID = 1817]

56) Which of the following denote the CORRECT set of unrecognised form of organisational justice?
A. Procedural justice

B. Shareholder justice

C. Collateral justice

D. Interactional justice

Choose the correct answer from the options given below;

forraifeilian 3f Sial = Asolrr sam & sEIfon Tasu o #él ageer iy sz 8 7
A, yfgaeid samT

B. sfgremyss oI

C. TATGHITE AR

D. sieligaesd o=

olfer 16 s1e famsedl 3 21 FE It & aae DHifae ¢

[Question ID = 456][Question Description = 53_qSNz_PG_MGT_Q56]
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A and C only/@ae A 4tz C [Option ID = 1821]
B and C only/&@ae B 4z C [Option 1D = 1822]
A and B only/<wc Az B [Option ID = 1823]
A and D only /3 A &tz O [Option ID = 1824]

oW

Correct Answer :-
o Aand Conly/@aa A &tz C [Option ID = 1821]

57) Once a company has appointed dealers, the main elements of dealer motivation then are:
A. Territory of operation

B. Trade discount

C. Special incentives

D. Effective communication

Choose the correct answer from the options given below:

DUl ZIRI U ar Sl ol forw @2 ferer o 8, aa Slor Afik)zel & 31 araaa &

A, yEeel 8if

B. sz o

C. faom Qicanga
D. gt sauor
ol v 310 famseal 3f 21 Jél Iaz &1 ara il

[Question ID = 457][Question Description = 53_qSNz_PG_MGT_Q57]
1. A,Band Conly/grmm A, Baliz C

[Opticn ID = 1825]
2. B,Cand D only/da=m B, Cafiz D

[Option ID = 1826]
3. A Cand Donly/asrr A, Cam D

[Option ID = 1827]
4, Aand Bonly/®am AR B

[Option ID = 1828]

Correct Answer :-
® A, BandConly/@am A, B3z C

[Option ID = 1825]

58) In consumer markets, for a market segment to be an effective and viable target, the segment should be:
A. ldentifiable

B. Reachable

C. Transcending International boundaries

D, Sizeable

Choose the correct answer from the options given below:

Susiler areIEl 3 T TE B v gurdt s oy S2edl @ e Row RaRril o stsg e wiae ;
A, ¥z ugamer A9 Eloll aifau

B. =iz 3o Blon anfze

C. @iz asaitdi Al A 531 agme slen @iy

D. s JeqI®IZ Sl alfaw

olfer 6w s1e famsedl 3 2 F Fe &1 aae Difag

[Question ID = 458][Question Description = $3_qSNz_PG_MGT_Q58]

A and B only/@wca A dfm B [Opticn ID = 1829]

A, B and D only/dae A, B 3tz D [Option ID = 1830]
B, C and D only/@== B, C sfiz D [Option ID = 1831]
C and D only/a@saer C dfiz D [Option 1D = 1832]

o R

Correct Answer :-
® A and B only/@ae A & B [Option ID = 1829]
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59) To gain sustainable competitive advantage in low cost manufacturing, Indian businesses are expected to
A. Reduce production cost, sacrifice profits and advertise more

B. Support MSMEs, to strengthen the supply chain

C. Adopt product differentiation and focus more on innovations

D. Bridge trust deficit and gain support from the public, workers and policy markers

Choose the correct answer from the options given below:

DA dar ard fowion # denfra gftreaed anr g ooy & g snadia ouferil 31 amer & st 2 76 4 -
A. SEUICET TP W5 WIS, T8 W1 cAieT w6t AT s gar wis

B. smgRi sjwren @ worga et B R MSME @ sraekor 3ot

C. srurc Raidosor aasrest sz srllefiassor av sftms sarer @fa wist

D. fRrearsitear &t wait @1 ot s soren, wdad o iy Brafani a axefa g wist

il R 1w Rroseal 3 A 18 30 w1 awer S :

[Question ID = 459][Question Description = S3_qSNz_PG_MGT_Q59]

1. Aand B only/daer A 2z B [Option ID = 1833]
2. Band C only/@aer B diz C [Option ID = 1834]
3. A, Band C only/d5ae A, B 3z C [Option |D = 1835]
4. B, C and D only/d@ae B, € 3z D [Option ID = 1836]

Correct Answer :-
® A and B only/@aa Az B [Option 1D = 1833]

60) Which of the following are necessary conditions for applying Siméon Denis Poisson distribution in the field of managerial
decision making?

A. Each occurrence of an event is independent of the accurrence of the other event
B. The probabkility of an occurrence is the same for any two intervals of equal length

C. Poisson distribution describes continuous occurrences over a specific time interval

D. In each interval, occurrences can range from zero to infinity

Choose the correct answer from the options given below:

geierbi fBrofer @ §ig A Rifdrrar 3Bra prr gffrafRa diverst Rraror w1 gater wiar @ e Brreftiaa & A oior - i Bafril sy &7
A. 5% "cell o1 ulea Sion gdl acen @ afld ot A Faeod &

B. woma cead & Roodt a1 siverdl @ R feslt aean &1 giRrmsan oo Sl 3

C. dizwm e Rl Riela #19r1 sirerc 3 slol arcll waa afda  acsail @1 avia w3

D. &= s & alkd Slon 9o 3 3mid @ 3l HADa &

i) f8u a1e Repeul A 31 w18t 30w @l o=am ifen

[Question ID = 460][Question Description = 53_qSNz_PG_MGT_Q60]

1. Aand B only/dsm A B [Option 1D = 1837]

2. A, Cand D only/«srT A, C afz D [Option ID = 1838)
3. A, B and D only/daa A, B 3fiz D [Option ID = 1839]
4. A, B and C only/sae A, B afiz C [Option (D = 1840]

Carrect Answer :-
® Aand B only/aam A 3 B [Option 1D = 1837]

61) An outlier does NOT affect which of the following statistical measures?
A. Quartile range

B. Standard deviation

C. Median

D. Regression coefficients

Choose the correct answer from the options given below:

arat (3nac Rer) Bratalan |7 A fiva aicrb aoe ofda a8 wear 7
A. =gelo 39 Rrremt
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B. s Forrerot

C. aeq

D. uyeHe IPID

il 18w =1u famcul # 31 Fé Iz @1 o BT 2

[Question ID = 461][Question Description = $3_q5Nz_PG_MGT_Q61]

A and C only/@ae A &z C [Option ID = 1841]
A, Cand D only/asmT A, C &z D [Option 1D = 1842]
A and B only/dsm A &z B [Option 1D = 1843]
B and D only/axwT B diz O [Option 1D = 1844]

N P 8 gy

Correct Answer :-
& Aand C only/@aer A diz C [Option ID = 1841]

62) Out of the following, which are the IMF facilities available to member countries?
A. Extended Fund Facility (EFF)

B. Structural Adjustment Lending (SAL)

€. Compensatory Financing Facility (CFF)

D. Stand-by Arrangements (SBA)

Choose the correct answer from the options given below:

forrafelion 3 & wova Soif @ o Tia Nt and oot vw yoa FRem: Fucree § 7
A. Rrarfya fafés fien (3 we vw)

B. Fstmir AARISHE 38R (T € o)

C. yftrprirers Readaw Fgien (36t oo o)

D. dwltuw caarend (v &t ©)

i) f8u a1e Repeul A 31 w18t 30w @l o=am ifen

[Question ID = 462][Question Description = 53_qSNz_PG_MGT_Q62]

1. Aand B only/dsm A d B [Option 1D = 1845]

2. A, Band C only/<mm A, B siiz C [Option [D = 1844]
3. A, Cand D only/@aer A, C &fiz D [Option ID = 1847]
4, B, Cand D only/gsam B, C iz D [Option ID = 1848]

Carrect Answer :-
® Aand B only/aam A 3 B [Option 1D = 1845]

63) Which of the following are types of foreign exchange risks or exposures?
A. Translation Exposure

B. Transaction Exposure

C. Social Exposure

D. Economic Exposure

Choose the correct answer from the options given below:

Reoft A fiderr sitasn w1 aga @ gor 3 .

A, Fg1 [ionr 3grTe (giicles saaulss)

B. o - 2w gl

C. aEfaes sgra

D. afefes agria

ol 18 =1u fameul # 3 Aé Iz @1 oI BT 2

[Question ID = 463][Question Description = 53_q5Nz_PG_MGT_Q63]

1. Aand B only/@am A #i B [Option ID = 1849]

2. A, B and D only/@am A, B sfiz D [Option 1D = 1850]
3. A, B, Cand D/A, B, C &z D [Option 1D = 1851]

4, Aand D only/famT A &z D [Option ID = 1852)

Correct Answer :-
& Aand B only/dsmm A 3z B [Option 1D = 1849]
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64) Out of the following, the examples of radical innovations are:
A. Personal Computers

B. Frozen Yogurt

C. Disposable diapers

D. Overnight mail delivery

E. Microwave popcorn

Choose the correct answer from the options given below:

Rraftifian @ wia amem Jayadd @ IS0 & ¢

A. cafipem Femnr (Twies)

B. w14t g A

C. Q== srra

D. sl et bt Fycel

E. aswiaa unrset

il 18w =1u famcul # 31 Fé Iz @1 o BT 2

[Question ID = 464][Question Description = $3_q5Nz_PG_MGT_Q64]

B, D and E only/<wm1 B, D 3iiz E [Option D = 1853]
A, Band C only/@mm A, B iz C [Option [D = 1854]
A, Cand E only/<rmm A, C 3z E [Option [D = 1855]
4, C and D only/sae A, C &z D [Option ID = 1856]

bt B

Carrect Answer :-
@ B, D and E only/g=e B, D 3fiz E [Option D = 1853]

65) Technical feasibility analysis will include which of the following?

A. Crucial technical specifications with respect to the design and product safety
B. Engineering requirements

C. Product development

D. Product testing

E. Plant location

Choose the correct answer from the options given below:

amelids] Fsreaar Rrdsaur enfim e -
A, RBrofars awmsiidb! River aficoeu iz Jzan @ wocsf 3

B, afSriferb! smasuamad

C. Fruig [

D. srurc &l di wren

E. g wemet

olfer 16w s1e fampeal 3 3 HE Fre &1 ae Hifag ¢

[Question ID = 465][Question Description = $3_qSNz_PG_MGT_Q65]

1. A, B, C and D only/dvaa A, B, C diz D [Option 1D = 1857]
2. B, C,DandE only/dwam B, C, D sz E [Option ID = 1858]
3. A,B,C,Dand E/A, B, C, D 4fiz E [Option 1D = 1859]

4, A, C, Dand E only/ama A, C, D iz E [Option 1D = 1860]

Correct Answer ;-
o A, B, CandDonly/dZ=ra A, B, C iz D [Option 1D = 1857]

66) Match List | with List [l

List | List 1

Concept(s)
[Description(s}
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|. Process of application of interest over interest, period

A, Annuity |after period, on a given sum at specific rate for
pecified time

B. Time Il. A fixed and equal amount of money payable or

value of receivable at periodic intervals of time equal to the

money mount of loan (Principal) and interest at a given rate

C (lll. Widely used in the field of finance in determination
) . __lof equated monthly installments for recovery of loans in

Compoundin

% specified time period at a given rate of interest

D. EMI

V. A fixed and equal amount of money payable or
receivable at periodic intervals evenly spaced over
ime

Choose the correct answer from the options given below:

=it -1 @t 3k -1l 3 peifem @i
ot -l ot -1l
(areeron )| Frezor)

A, anfefebl

|, faforidee s & fere fafaifdee or uz ezl goa w1flr az @il o
sraf s aF a7 sars asErel @ g

B. erot wor Il

Rezil goa wmar o3 3iiz sav1 (Jgiem) 3 atdn & e aiias

PRI Aol [FERIIGRIE UT HeA eral Yrel orE foria iz waner erer w1fdn

C. Nl fepft yem =anat o2 uz fafeileee warmal? 3 spoii 61 azeh & e
sgrblenam wam aire Reodl < Biedaor o fordi 8 0 ama | @ g

D.sea |V,
¥ 3 7 THTe erorarfdn

U6 TG FERI 3 WAERD 3w uz e siemn g o form

ofta v =1 frwseal & 7 =8 saz gforw

[Question ID

1. A-IV,B-1ll,

= 466][Question Description = S3_qSNz_PG_MGT_Q66]
C-1,D-1

[Option ID = 1861]
2. A-IV,B-1,C-Il,D-1I

[Option ID = 1862]

3. A-ILB -1,

C-,D-I¥

[Option ID = 1863]

4. A-1IL, B -1,

C-1,D-1

[Option ID = 1864]

Correct Answer :-

e A-IV,B-I,

c-1,Db-0

[Option ID = 1861]

67) Match List | with List [l

List | List Il
A. Snob I. If firms are disproportionately powerful, the market
: leader makes the first move and captures two-third, of
effect
he market
B. Small- Il. When some people demand a smaller quantity of a

world model

commodity as more people consume it, in order to be
different and exclusive

C. Ill. Oligopolistic firms seek to maximize sales after an
Stackelberg adequate rate of profit has been earned to satisfy
model stockholders
D. Sales IV. Theory that a corporate giant can be made to

C . |pperate as a small firm by linking well connected
maximisation| = = —_—
odel individuals from each level of the organisation to one

ancther

Choose the correct answer from the options given below:

prepp
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2 -1 B it -1l A gAfera Hifw

et - il
A. Foifa |. afe gftreors srcaftes siffvoncht &t ot aene @1 3@ gsa W
E T & 3fi? 5 ReR =R Uz wean o2 dar 3

B. wdifat acd ||l 5|, Rezht awg &1 Su=iler siftrpaz et wra & Al et i
s e ot & Rre gyes disr 31 avg &t wa #1isr w3 8

C. ¥emoget ||ll. vafa et g7 g o3 8a @ a5 srearizeord gftreoier
FHiscl FCRBER®] Dl AR Sd D [o1e Allrpas ) o1 yar: o 2

D. faast IV, @18 Brgloda b 3sIael @& grie Faz 3 YA Sitpdl ®f

siftrsmeiteiEtser @ mend A ol o oivalie ot el oR gitrom & avs
Fise genfer foan @ asar

iy v s1e faseal i 31 wé Iw gfew

[Question ID = 467][Question Description = $3_qSNz_PG_MGT_Q67]
1. A-IV,B-1,C-1,D-1

[Option ID = 1865]
2. A-1L,B-1¥,C-1,D-1I

[Option ID = 1866]
3. A-N,B-1L,C-1,D-1IV

[Option ID = 1867]
4. A-1,B-11,C-1¥,D-1

[Option ID = 1868]
Carrect Answer :-
s A-IV,B-ILLC-1,D-1I

[Option ID = 1865]

68) Match List | with List [l

List | IList I
A, Simple [l. A structure that supports an organization's
structure capacity to continuously adapt and change

B. Functional [ll. A structure in which the entire organization is

structure made up of workgroups

C. Team lll. It is an organisational design that groups similar
structure ccupational specialties together

D. Learning IV, It is an organizational design with low
organization epartmentalization, wide span of control and little
structure ormalization

Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAfera Hifw

et - et -1l

A, miemror |, oo HIgell Sl O HeToel Ot S191A TSI S[EYT avzar Al
ST ufracds 3 s Wl 3

B_' . e Fvaen Bradt megel deow ol a8 A aon 3
Fivere

C. Az 3 . 25 wor wisolore sifstsea o Aver AysE! Ry o AwEs

IR fagiasan &

D. gforg IV, 7z frraifapitoor, orider oI ged <rRe iz aga o
FieToer Fvaen piiacnriieer @ Are-vay Aol saffrweg 3

oY R a1 famedl A A 28l e g :
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[Question ID = 468][Question Description = 53_qSNz_PG_MGT_Q68]
1. A-IV,B-NILC-N,D-1

[Opticn ID = 1869]
2. A-N,B-1,C-1¥,D-1

[Option ID = 1870]
3, A-I,B-1ILC-1,D-

[Option ID = 1871]
4. A-IV,B-1,C-1I,D-II

[Option ID = 1872)

Correct Answer :-
e A-IV,B-N,C-1,D0-1

[Option ID = 1869]

69) Match List | with List Il

List | IList I

A, Ind AS 11|I. Revenue Recognition

B. Ind AS 2 |II. Effect of change in exchange rate
C.Ind AS 3 |III. Valuation of Inventories

D. Ind AS 9 |Iv. Cash flow statement

Choose the correct answer from the options given below:

et -1 ot et -1l 3 ygdifera e

et -| et -1l
A, Ind AS - 11 |. Trorea SAreaan

B. Ind AS - 2 1. RiBrr 72 3 ufvadsr w1 gur
C. Ind AS -3 lll. st 3R (Foddis) @ Fedioo
D. Ind AS - 9 IV. srpét gars Rt

iy Ru s1e faseal i 31 7d I gfew
[Question ID = 469][Question Description = $3_qSNz_PG_MGT_Q69]

A-1,B-1l,C-ll, D- IV [Option ID = 1873]
A-1V,B-1I,C-1,D- il [Option ID = 1874]
A-NI,B-11,C-IV, D-I[Option ID = 1875]
A-1,B-1I,C-IV, D-I[Option ID = 1876]

N N PR o Y

Correct Answer :-
o A-1,B-Il,C-1ll, D- IV [Option ID = 1873]

70) Match List | with List [l

List | List Il
Option
strategies Description(s)

A, Protective

Lt l. Buying an asset along with a put on it

Il. Buying a call as well as put options on an asset at

B. Covered call : ;
the same exercise price

C. Long 1ll. Combining two or more options on the same asset
straddle with differing exercise prices or times to maturity

IV. Writing a call position on an asset along with

D. Spread
2 buying the asset

Choose the correct answer from the options given below:

TRt -1 @ et -1l 9 AR Hifw
et -1 et -l
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(siiceror Bt |

urefiferit) [ )

A. Fizelt g |, ge @ Fr ufafy s=dicon

B.was  |ll, izt uftziafi uz osia a ge sliverar <16t ues & yEiier e a2
BicT RGOl

C. a1 ll. € = sAfERp siivereil @I v & ul¥ziula Uz AT Dol ey
Fese R Fe iz ufraaaan o firse - fiea a8l

D. Fs IV. af¥iaft o wice o5 ave - arer gl av oia g

ofr fon a1g sl & 21 w1dt gaz gione ¢

[Question ID = 470][Question Description = $3_qSNz_PG_MGT_Q70]
1. A-ILB-IV,C-1,D-1N

[Option ID = 1877]
2. A-1,B-IV,C-1,D-1I

[Option ID = 1878]
3. A-NLB-1,C-1¥,D-1

[Option ID = 1879]
4. A-1,B-1I,C-IV,D-1I

[Option ID = 1880]

Carrect Answer :-
o A-I,B-I¥, C-1,D-1I

[Option ID = 1877]

71) Match List | with List [l

List |

List Il

Brand concept

Meaning

A. Brand image

|, Customer's emotional response and reactions with
respect to Brand

B. Brand Il. Image of the Brand in the customer's mind,
feelings meeting their social/psychological needs
C. Brand 11l. How customers think of the Brand under various
position purchase situations
D. Brand IV, Deliberate attempt on the part of marketer of

. the Brand to create a unique position in the mind of
salience

customer

Choose the correct answer from the options given below:

2 -1 B gt -1l A gAfera Hifw

et - gt -1l
(s (et
HTEEOT )
A. gis &t ;
i |. gis @ & 3 spewi & sraenearm gffrazar iz sepfs
B. gisdt |, spswl o Raer ¥ giz &t ofd, 3o arnfEns / seidsnitrs
I Azl Bl QI Hull &
C. gis &t .
. fRf$mer e Rraferl 95 aiaeia spew e Aaa 3
D. giz 6t V. spewmt @ Ram # Rifdre Berfr & Gator @& e gis @ [koors
&I S e Siiol dict 3ereh G

iy Rw o1e faseal i 31 wét Iw gfew
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[Question ID = 471][Question Description = 53_qSNz_PG_MGT_Q71]
1. A-LLB-ILC-M,D-1¥

[Option ID = 1881]
2. A-1,B-1,C-1I,D-IV

[Option ID = 1882]
3, A-NLB-1L,C-1,D-I

[Option ID = 1883]
4. A-1I,B-1,C-1v,D- I

[Option ID = 1884)
Correct Answer :-
« A-|,B-ILC-1L,D-IV
[Opticn ID = 1881]

72) Match List | with List [l

List | IList 1

A. Erratic levels of [l. Inventory is in the wrong place at the
customs service wrong time

B. No vision of future [ll. Lack of agreement between different
demand and its impact |[departments i.e. Customer service,

on production Distribution and Manufacturing

C. Too many
changeovers in
production

l1l. Production lacks confidence in marketing
epartment's forecast

D, Too many stockouts [IV, Inventory is either too high or too low

Choose the correct answer from the options given below:

et -1 ot et -1l 3 ygdifera e
et | e -1l

|. 31cT FeIIel UR HHA 3 A6l I R
Eerf

A, Jecs a1 @ sferfia Fas

B. sifersr &t o1ier o1 X s o1 ||l fafireor fsnait =) o5 apes - 2,
BIGI ¢ SIBI JTUIGH U QUL o T STaGd @ di WBIARGIAL

. feuerer fsiell # fovarer &t @it 3
IeUIGeT U2 galgliel Usdal 8

V. zroror it =i A oo 4 8l § &
g T

ofr fon a1e sl & 21 w1dt ga= gione |

C. searcer A sreatdns scary

D. Fie o1 gft aze 77T Eleln

[Question ID = 472][Question Description = $3_qSNz_PG_MGT_Q72]
1. A-IV,B-1,C-1,D-1
[Option ID = 1885]
2. A-IV,B-NI,C-1,D-I
[Option ID = 1886]
3. A-1,B-1,C-1,D-1V
[Option ID = 1887]
4. K-, B-LC-I¥,D-1
[Option ID = 1888]

Carrect Answer :-
o A-IV,B-I1,C-1,0-1

[Option ID = 1885]

73) Match List | with List [l

List | ‘List I

property he queue are selected to begin service

A, Markovian }I[ Rule of determining the order in which members of
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Ei;'r:ai:] e lll. The time of next arrival is completely uninfluenced
by when the last arrival occurred

system

;:.af:eady lll. The queueing is in after operating for some time
ey with a fixed utilisation factor less than one

condition

D. Queue IV¥. Elapsed time that an individual customer spends in

discipline queue, both before service and during service

Choose the correct answer from the options given below:

et -1 ot et -1l 3 ygdifea i

et -| et -
A. Aot ||, o fBrefeer 3q Brmr Brast dfts © gl o we Jar ot
auTerst 9% ol @ [1e Reem s &

B. yumelt 3 1, ST 3ifér MBTHGT BXeAl 2 o 5T PRI ol HHAA Gt aws
L;av_mtmm STt B s 3

C. Rez smzen  |lll. v A wa Bifa suash o © 7y oriican o ©
afserfar T s gunedt 2kt

D. warr IV, wrclter fasan stenr s F513% o618 apsos dfts & o 8 Az
IOl QIo] ag it Jar 3 gui iz Jar @ Shaer

of fon a1e famseal & 21 w1dt Fa= gione ¢

[Question ID = 473][Question Description = §3_qg5Nz_PG_MGT_Q73]

1. A-1,B-1,C

L, D- IV

[Option ID = 1889]
2, A-I,B-1V,C-lIl,D-I

[Option ID = 1890]

3. A-1,B-1,C

L, D- IV

[Option ID = 1891]

4, A-I,B-IV,

C-1,D-1

[Option ID = 1892]

Correct Answer
e A-I,B-I,C

L, D- IV

[Option ID = 1889%]

74) Match List | with List [l

List | [List 1
Terms relate to [Organisation
A, Bali Package I. UNCTAD

B. To assist developing countries in the area of trade and capital||l. IMF

C. International monetary cooperation among member countries |III. World Bank

D. Providing loans for building capital infrastructure of a countryIIV. WTO

Choose the correct answer from the options given below:

eft -1 ot et <11 3 ygdfea i

it - it -l
A. archt tidbar I, siewers

B. Rwraohiar Soif &t wamar afir goht &g i wwarmen asen Il. 30 wat oF
C. g1 2olt & dla aeais Aifes wrsdmT I, fora S

D. oo o1 &l Gl araeizcon RN 3 S5VT Yot weel V. secer ¢t ait

iy Rw s1e faseal i 31 wé Iw gfew
[Question ID = 474][Question Description = $3_qSNz_PG_MGT_Q74]

1. A-I¥,B-1I,C-1ll, D- | [Option ID = 1893]
2. A-IV,B-1,C- I, D- Il [Option ID = 1894]
3. A-1,B-NIl,C- IV, D- | [Option ID = 1895]

C 4 AL BTV,

C-1,D -1 [Option ID = 1896]

prepp

Your Personal Exams Guide



www.prepp.in . re p p

Your Personal Exams Guide

Correct Answer :-
o A-IV,B-Il,C-1Il, D-I[Option ID = 1893]

75) Match List | with List [l

List | lList I

Entrepreneur type |Features based on Entrepreneurial Competency
A, Passenger |I. Ability to do and no will to do

B. Star/ldeal |II. No ability to do and no will to do

C. Dead wood 1. Ability to do and will to do

D. May run |IV. No ability to do and will to do

Choose the correct answer from the options given below:

st -1 B 3t -1l 3 AR AR

it - g -1l
(3=t gaie) (3erht armed a7 snenfya Ridramd)
A, O3z |, @531 &1 =eer siiz Dol &t o1 &l ardl Fenl

B. ¥er / smafdaa I wet ot aiteer sl afie awel Bt st orgl ardt Tt
C. 333 lll, w3t Bt 2wt 3z azaY B TeaT A Jenit

D. 3 %ot IV. ot Bt <iteer ordt 3fiz o B seoT A FEER
ofta v =1 fraseal & 7 =8 ooz gfers

[Question ID = 475][Question Description = 53_qSNz_PG_MGT_Q75]

1. A-1,B-1l,C-ll, D- ¥ [Option ID = 1897]
2. A-IV,B-1l,C-1l,D-1[Option ID = 1898]
3. A-IV,B-1ll,C-1,D- Il [Option ID = 1899]
4. A-1I,B-1¥,C-1,D -l [Option ID = 1900]
Correct Answer ;-

o« A-1,B-Il,C-1l, D- IV [Option ID = 1897]

76) Arrange the following economic identities in a sequential evolution to understand consumer demand,
A, Law of Demand

B. Utility analyses

C. Demand Elasticity analysis

D. Indifference curve analysis

E. Demand Forecasting

Choose the correct answer from the options given below

Swsiht AT & fére apfter SgH 3 forrarieriRan snffes fafdreeanait @) saiient Hifaw ;
A, HieT @I o

B. Su=nBrm Reeaom

C. @iz yrenzeran fedam

D. dcreran ad s

E. Jtie1 i yaicier comen

oirar faw a1 faascal 3 2t 7l anz o1 aga B @

[Question ID = 476][Question Description = $3_qSNz_PG_MGT_Q76]

1. A, B, D, C, E [Option ID = 1901]
2. B, D, A, C, E [Option ID = 1902]
3. B, C, D, E, A [Option ID = 1903]
4. C,D, B, E

77) Arrange the team member's behaviour in the group building process in the proper sequence
A. Lot of competition and hostilities
B. Upset and depressed

C. Eager, anxious, gather impressions and data about the similarities and differences among members
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D. Interdependence in personal relations
E. Less dissatisfied and a feeling of belongingness to the group

Choose the correct answer from the options given below

wgg foraivr gRpen 3 o @ sl @ =mer @ 718l o 3 caaliea o ¢

A. sreaftes gferaed sfiz ergen

B. 3gm silv smeaeeza

C. Feral @ dfa wsmere Iz Riffeerasit © e # s, glinn, gpudl T aiws] B oo, e A7 s
D. caftper wdel 3 weaw Rl

E. ®a dqec sloll Aol U A A AL ® 91 A AR

ol f8u a1 Rrpoal 9 31 w18t 30z @l o=m Rplans :

[Question ID = 477][Question Description = 53_qSNz_PG_MGT_Q77]

1, B, C, A, D, E [Option ID = 1905]
2. A, B, D, C, E [Option ID = 1906]
3, C, A, D, B, E [Option ID = 1907]
4. C, A, E, D, B[Option ID = 1908]

Carrect Answer :-
s B, C, A, D, E[Option |D = 1905]

78) Arrange the following key roles in the inverse order of their involvement in the process of organizational change
A. Chief implementer

B. Task forces

€. Corporate management

D. Implementation team

E. Consultant

Choose the correct answer from the options given below

Raifelian #5a ufonl Ol Aok aeora & gitpar i Sed Nl A5 B! 3e¢ a3 caaler S
A, I orileazet

B, orf ao

C. e gerraa

D. wriicaet a3

E. scmsm

oiial few s1e famscul 3 31 Al 3nz @1 aua Hifag @

[Question ID = 478][Question Description = $3_qSNz_PG_MGT_Q78]

B, D [Option ID = 1909]
D, B [Option ID = 1910]
. D, B [Option ID = 1911]
» A, C, B, D[Option ID = 1912]

Correct Answer :-
® A E C, B, D[Option ID = 1909]

79) Sequence the following to draw a logical timeline for dividend payment.
A. Payment date

B. Declaration date

C. Ex-dividend date

D. Record date

E. Notice to stock exchanges

Choose the correct answer from the options given below

cIieT YITdTe! 2q] fermiciian o1 v ald® cdchzol AN B0l DI T €olll |
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A. sorerer @1 foddy

B. srgenr 43 i

C. vas - cmner 61 oy

D. fxpis wwa &Gt fify

E. ¥io vasrds @ Ifa wwn

i) f8u a1e Rrpoul 9 31 w18t Fne @l o=m ifans :

[Question ID = 479][Question Description = 53_q5Nz_PG_MGT_Q79]

A, B, D, C [Option ID = 1913]
, D, A, C, E [Option ID = 1914]
D, A, E, C [Option ID = 1915]
B, C, D, A [Option D = 1916]

¥

¥

¥ 1

Carrect Answer :-
& F A B, D, C[Option ID = 1913]

80) Arrange the following to describe the sequence involved in Cost Yolume Profit Analysis (CVP)

A. Establishing the fixed and variable costs related to the product

B. Drawing up break even charts which establish the point at which sales start to produce profit

C. Working out P/V ratio by calculating contribution as a proportion of sales revenue

D. Determining the cumulative effect of each product on profitability to assess the effects of change in product mix
E. Calculating the relationship between sales volume and sales revenue by actual or assumed unit prices

Choose the correct answer from the options given below

Wi dicga giflse RreSaor (CVP) & afdafer Brasr ot ey wraferna o ¢

A. 3oae A Hdltm Rree sy afvadl e Bredfya oo

B. Zigera -~ vae ard gowon St 3u Rig w1 Biedor avem 3 S8t fiegm & ar Sleir g Star §

C. Rradl A 815 arelt arrr & srgpar 3 Aecrar @B sverenr we P/V sraanT Ry wyen

D. seare Breper # uf¥ads @ gendl o1 s el @ fore osrgear a3 &3 Jvars o1 Faell gura Bredfa e

E. arafdes ar sgpmfer sord et B msraar & Raf & argr iz Ao} A a6 ach gy @ Ok sder ronfora wwon
o Re o1 Rrseai A A aft s gal ¢

[Question ID = 480][Question Description = 53_qSNz_PG_MGT_Q80]

A, E, C, B, D [Option ID = 1917]
A, B, E, C, D [Option ID = 1918]
A, C, B, E, D [Option ID = 1919]
A, E, B, C, D [Option ID = 1920]

T

Correct Answer :-
e A E, C, B, D[Option ID = 1917]

81) The product hierarchy stretches from basic needs to particular items in some sequence. ldentify the CORRECT
sequence or levels of the product hierarchy

A. Product type
B. Product family
C. Product class
D. Need family
E. Product line

Choose the correct answer from the options given below

HE Tl H vl g fatttee #5l Bl FenIT AIIDAr A G961 & ITUIG Ao o HUEl @ e[l W12 &l uzad &1 ¢
A, Jur fera

B. 3ruig uf¥arz

C. 3eurg ol

D. cftz Gkl
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aftar e oo froseai i A =&t s gdl ¢
[Question ID = 481][Question Description = 53_qSNz_PG_MGT_Q81]

B, C, D, E [Qption ID = 1921]
. D, C, B, A[QOption D = 1922]
B, C, E, A [Option ID = 1923]
,E, C, A, B [Option ID = 1924]
Correct Answer :-
e A B, C, D, E [Option ID = 1921]

82) As per the Anglo-Saxon Model of Corporate Governance, the authority lies with the following. Arrange these in
decreasing order of authority.

A. Board of Directors

B. Managers

C. Shareholders

D. Employees (Company)
E. Trade unions

Choose the correct sequence from the options given below

foreTat giretet @ Godll - Fadd disd @ IR Ylirpr Gmifiliaa @ ama Rua diar 8, sorol YiRror @ god agaa d sgaliaa Biem
A. Breerpl @& €18 #

B. garrnt 3

C. sivrenzml #

D. wetent=a 3 (wuwsil)

E. caur #igi #

oifer o are femseal 3 31 7t 9ne 9 ¢

[Question ID = 482][Question Description = $3_qS5Nz_PG_MGT_Q82]

1. A, C, B, E, D [Option ID = 1925]
2. A, B, C, D, E [Option ID = 1926]
3, C, B, E, A, D [Option ID = 1927]
4. C,A B, D

. A, B, D, E [Option D = 1928]
Correct Answer :-
s A C, B, E, D[Option |D = 1925]

83) Sequence the innovation adoption process that consists of five stages which potential consumers pass through while
attempting to arrive at a decision to try or not to try an innovative product.

A. Consumer tries the innovation

B. Consumer undertakes a "mental trial” of the innovation

C. Consumer decides to use the innovation repeatedly

D. Consumer becomes interested in the innovative product

E. Consumer gets aware about the existence of the innovation

Choose the correct answer from the options given below

sldload Fdlaszor gitgar 3 ufa @eor 2 2 el gl dhifaa susist adisadl scue da a1 | da @ vl a6 udaa & gara # spean 8
JorcD Traoll @ q aar &7

A. SasitvoT srdloard awe ot s 3

B. Fasitvor ol aeg oot ‘wralne afteor @ 3

C. sasitror ol aeg w1 @ - AR IasT weot @© Bioka wra 3

D. 3asior ore 3eare # wRr A6 aerar §

E. Jasitest o1¢ 3earg Bt Rreperar 3 sraswT 8 3

ofta Re o0 Rrseai A A aft s gal ¢

[Question ID = 483][Question Description = 53_qSNz_PG_MGT_Q83]
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C, A, B, E, D [Option ID = 1929]
D, B, A, €, E [Option ID = 1930]
B, D, A, E, C [Option ID = 1931]
E,D, B, A
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84) In theory, several levels of economic integration are possible, Arrange the following from the least to the most

integrated:

A. Common Market
B. Free Trade Area
€. Economic Union
D. Political Union
E. Customs Union

Choose the correct answer from the options given below

Hgilirr u A snehko odbiaeur © [idoer a2 a3 o @ @A whiga A siitre whlopa 3 caai¥er o :
A. HIH WSIR

B. aaeg = &

C. wnf¥w gerem

D. seeifrr gorma

E. wrce ghorm

ol f8u a1e Rrpoal 3 31 218t 30 ool ¢

[Question ID = 484][Question Description = 53_qg5Nz_PG_MGT_Q84]

1, A, B, C, D, E [Option ID = 1933]
2. B, E, A, C, D [Option ID = 1934]
3, A, C, D, E, B [Option ID = 1935]
4. C,B, A E

, B, A, E, D [Option ID = 1936]
Carrect Answer :-
s A B, C,D, E[Option ID = 1933]

85) Creativity is the process of generating a novel idea. The five steps of the creative process in sequence are:
A. Elaboration

B. Preparation

C. Evaluation

D. Insight

E. Incubation

Choose the correct answer from the options given below

Farareflerar o sncol e o seaser weel &t gftgar 8 Fseens gitgen @ ol ol w1 51t oo # 3 -
A. Rrreur

B. fard

C. scama

D. aiedfe

E. sgmam

ol B =10 Repedi A A Aft s @l ¢

[Question ID = 485][Question Description = 53_qSNz_PG_MGT_Q385]

1, B, E, D, C, A [Option ID = 1937]
2. D, E, A, B, C [Option ID = 1938]
3. B, D, E, A, C [Option ID = 1939]
4. E, D, C, B, A[Option ID = 1940]

Carrect Answer :-
« B E D, C, A[Option |D = 1937]
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86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: An oligopolist firm cannot decide the price it wishes to charge as well as the quantity it wishes to sell, both at
the same time,

Reason R:  An oligopolist firm takes into consideration the competitors’ actions and counter actions because of a strong
interdependence among the

competitive firms
In light of the above statements, choose the most appropriate answer from the options given below
a1 & wuer Re 510 ¥ 1 wowr aftrsast (Assertion A) @ wa & 3i¥ g 3@ weor (Reason R) @ wa & ©

sfirper (A) @ @1 srcuritrerd yfirsora s& Sl awdl o1 v w11 Bk @il o soan 7p ag Roaen sea e e £ 3iiz Roasit aimgn Saon
B &

@1t (R) ¢ gRrBRI B fgamil 2z giiafkpan:ii o sam # 75 go ®F acufPreri gicore v & @ i o aoa § w&iife giteieit
gfereoraii o gae gvrge - Biskvar aielt
1

FaIns weell aF aneid #, i Re Broeal § 3 58t 3a3 o guaa Hifsne :

[Question ID = 486][Question Description = 53_qSNz_PG_MGT_Q86]
1. Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) &=t = & 4= (R), (A) & =2 =oom &

[Option ID = 1941]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) i o1dt & womg (R}, (A) & 35t camecen o

[Option ID = 1942]
3. Ais correct but R is not correct/(A) 3t 2 momg (R) =t =i &

[Option ID = 1943]
4. Ais not correct but R is correct/{A) oidt =2 € wagg (R) =t 8

[Option ID = 1544)]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/ (A) iz (R) =i =8 £ 5iiz (R), (A) & =8 woo=n

[Option ID = 1941]

87) Given below are two statements

Statement I: The Transactional Analysis Model is an effective tool to understand why people behave in certain ways.
Statement II: The Transactional Analysis Model cannot be used to improve communication

In light of the above statements, choose the correct answer from the options given below

il 31 el RRw o1 3

el - | 1 gloorerel fasiuun dise om gurdl 30moT 2, U8 HAH6 @ o i T a7l oo |1 Ui 3 wIdgeR o & 7

@eal - 1l 1 gostomera Rsdvar AAisa o1 s FHgaer I Jenz @ e o fasen o wear 2

JRITD werell > el ¥, oy Ru fawedt # 31 w7l 5uz &1 aww Hifas |

[Question ID = 487][Question Description = $3_qSNz_PG_MGT_Q87]
1. Both Statement | and Statement || are true/fosem | Sz | St s 8

[Option 1D = 1945]
2. Both Statement | and Statement |l are false/mem | 33 || 36 T &

[Option ID = 1946]
3. Statement | is true but Statement Il is false/=ee | 30w |, Roog e | araey

[Option ID = 1947]
4, Statement | is false but Statement Il is true/mem | sr= 2, g e |l = &

[Opticn ID = 1948]
Carrect Answer :-
& Both Statement | and Statement || are true/=ee | 4z || S5l 30 &

[Option ID = 1945]

88) Given below are two statements
Statement I; A satisfied employee may be highly disengaged.
Statement IlI: It is possible to feel engaged by the organisation and not the job,

In light of the above statements, choose the most appropriate answer from the options given below
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ofl &t weas Re srw 3 .

weaet - | 1 o Agee wakard Joa Fav o2 wucht AsuA @ wwar
weret - || : a v & Kb isto0l A SB ol 3 OFi 3 ol

IR WGl B IR 3, ikl Be kiroodl # 3 5181 303 w1 oI s ¢

[Question ID = 488][Question Description = 53_q5Nz_PG_MGT_Q88]
1. Both Statement | and Statement [l are correct/mwem | A2 |1l =l ==t &

[Option ID = 1949]
2. Both Statement | and Statement [l are incorrect/sam | 7 1| St siom £

[Option ID = 1950]
3. Statement | is correct but Statement Il is incorrect/wem | 7t 2, fveg wem | o &

[Option ID = 1951]
4. Statement | is incorrect but Statement [l is correct/mam | srem 2 , fseq ua || 38 8

[Option ID = 1952]

Correct Answer :-

e Both Statement | and Statement [l are correct fwemr | &z | Sieif =t &
[Option ID = 1949]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A; Acquiring firms often are willing to pay a price higher than the status quo value of assets for the right to
control management of target

firms.

Reason R: The value of control stems from the changes that can be made to improve performance by debottlenecking
capacity, streamlining and

strengthening operations, managerial systems and processes.
In light of the above statements, choose the correct answer from the options given below
ofll 1 ool RRu slw 3 web Mfdrserel (Assertion A) @& mu 3 sz gzrer 35 ool (Reason R) S =a 3 ©

atfireperer (A) @ oz glieomell @ ydelor U2 foRigor oI affier gra ol @ fée aiepédl giicent grn uissakril & anitafas gea A sfire
HlenT Toa @ TR A 3

@t (R) : forireT @1 v 3ot ul¥arcil @ Tord Sl & 51 20 < araRIEl @l o7 @2 e ARpEnal, gatrbr dql iz gioami o Jyardt
3T FeIge doll 2 oo # Jenz

oA @ fere fopw o Ia 2
SRR Gl & s 3, iR Ry famedl 3 3 w8 saz o ave Hifswe ;

[Question ID = 489][Question Description = $3_qSNz_PG_MGT_Q89]
1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) &el 3 2 3z (R), (A) & 3 ==y &

[Option ID = 1953]
2. Both A and R are true but R is NOT the correct explanation of A/(A) diz (R) =g 78 £ usmg (R), (A) F =2 == =t 2

[Option ID = 1954]
3. Ais true but R is false/{A)} 32t 8 urog (R) & & €

[Option ID = 1955]
4, Ais false but R is true/(A) =&t ot Zoosg (R) =t 2

[Option ID = 1956]

Carrect Answer ;-
# Both A and R are true and R is the correct explanation of A/(A) 3z (R) Sat 2@t & six (R), (A) o5 71t =ns=n 2

[Option ID = 1953)

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The main reason for companies to move to global markets is to take advantages of the economies of scope.

Reason R: Economies of production arise due to the Competitiveness Index of the country in which the companies
produce,

In light of the above statements, choose the correct answer from the options given below

il 3 ool Ru s & ;. ues aifdrsera (Assertion A) @ wu 3 siiz g1 35@ @reor (Reason R) @ wa 3 ©
afirperer (A) : suforll Zr dlae arenz &l 2z F@ ol o 33T SRl fafar  feen R @ Brer soren &
11 (R) @ Uit 1 Irae oy =16l arer e 3 giteuul Jamie & SR Iaucs Jardd ool Bidl &
D woell & aed #, ofty Ry famedt # A 718 3az o avel Hifsmw ;
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[Question ID = 490][Question Description = 53_qSNz_PG_MGT_Q90]
1. Both A and R are true and R is the correct explanation of Af(A) iz (R) =t =1 £ @2 (R), (A) & =t e &

[Option ID = 1957]
2. Both A and R are true but R is MOT the correct explanation of A/ (A} iz (R) el wra & wogg (R), (A) ot 2 o= ondt &

[Option ID = 1958]
3. Adstrue but R is false/(A) s £, w=g (R) s &

[Opticn ID = 1959]
4. Ais false but R is true/({A) smra 8, wog (R) o7 &

[Option ID = 1960]

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/ (A) 3z (R) 2=t =ra F &tz (R), (A) &t =5t oo &
[Option ID = 1957]

Topic:- Management_SHAAN_NOV21B

1) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system. But the large-scale implementation happened in 2012
when the US federal government across departments including Asriculture, NASA and the US patent office allowed remote work for employees, The
pandemic however has accelerated this phenomenon by 10 vears. The acceptance of remote work by several companies globally, is one of the few
blessings of an otherwise incredibly hard time, The companies pioneering its adoption will be the 'magnets for talent’ as it enables them to attract the

best as it grows.

The emplayees are expected to greatly benefit from remate work as their contrel aver their own time increases. They do not have to commute and are
able to wark either in the day or at night, depending on their personal style, while enjoying geographical flexibility to live wherever they want. People

cauld save mare if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system <an hire talent glebally with ase and increase productivity. In the US patent office, productivity went up by 4.4%
when it moved to work from anywhere. Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work.

Work from anywhere has the power to reshape our old understanding of work. Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent
inside office buildings.

Managers will however, need to be sensitive to bias against remote working. Even loneliness could be addressed by augmented reality. It is of significance
that the pandemic does not represent normal times when schools, day cares and help will be available.

Remote work actually suits women employees as many women forego career opportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic foo, the world Economic Forum finds employers
are ready to give at least 44% of employees a work from anywhere option.

ferraferfiae srerior o saragde uew? gF s1e geal & sy Ao

g wsond © oz 6t @5 asm usd &l wo walsril & fsedl it Se1s A @il avor B goiredt o) sishoe wr R e Rysg &2 Gt uz 79 ad
2012 # ae] fooan srn s@ AAfsbl dardad Awpiz of B, o iz @bl Ode sdifba afea ofF ol d odknlwi @ oo oz 31 ®ri e 6
gonedt 51 srogafer & ot Hfaw mermdt © abvorrasa g8 gam Ak 10 o ao @ 19 a6t g stn 3 Rreayay  sews waferit prer g 5w
Rl foreet el Wl gurel @51 w=dikpl seaen srcafies widsl 3R d i auokil 3 3 0w & 33 wRIYUIE @l suesa drell seyoll wubril #
gfers FHuool clieT Hid acl i3 aiifes seadbl Figly o & Fmer - F1er Fdfcayee gt o1 srsitfa ool 3 Ferran fierd 2

g2 JED2 R forcurcsl @ Waray oienf¥E @ aga aftre annisan giel ol 3xilc 2 adife sl cafve o age 3 u3 foriqo & 8, 3
AN A el usdl &, Faftow dicht @ sneme Uz 98 Ba @ wrR @ aa A or ireuce o wem Az ag [l ot o - &g 3 w0 @ R Fadag
2RI & Afe clieT AL SIE sl # AT Az SICR] el Aphis efte 3 aidler zema # @e A1 a safeee g o a5d §

gzre1 il guieh &1 sgere: oufori gt gforr 3 sirarit 3 gitnmas waerl of hrglte o aea & s srucom A gig o I pa & -
srafydst 92z sfifea # ool it zene & ol wel Bt gonedt srgane st @ @ e # 4.4 gftrera ao B gfy 58 8 avaland srer whasht ©
gi¥I TSIl I HId b 2 1 9 I 331 dw & criiciiust A 308 ®RI & AdIca # iz A2 ool 3 ARG Gol ©I 3de [Hen

feoeht ol 5ot 31 SR wzal &I Yol 3 orl, Seardt &bl geaell Jas ©) o/ Fawu 2q &l graar 3z a9 dowl 3 Jsolarcil suferal o
gfafarftr 3 guf wifere omdifye uf¥af, Muersiie dar iz srtom & sae & fiaz 15 as Jr sdla T o aor afts
IFSOIADI DI HIHSA el & YatrbRI ool @t gz wrimmv @ gfer udivela Al galeg @ gl ddcesiia glen mide afda aenefan < a1
MDel I MG - Yavrd oI it oanu fear a1 oo € arelen: #eEil 33 A6 TreEs ®! il ol oxdt 2 o @@, 3 - D i
a3y siiepe Faersel il grvy wri gonedl argm: sfder waafRl @ fore sgwa 3 aoifls aga @ afded shicd @ g6 s o) rer 3t § Hoe
Zertel uf¥ader glen onfdra & 3z Rrrd vl Jord ullrariss Shas 3 ®idensal svuce erfl 2 gama 3 agens o8 & 3 91t orl B & goeht
31| Tl AR oeR g &2 2 o Aendl o @ ac W fra skl s (acs soeiifi b)) @ Jra g3 & fis fordnt a1 21 &n 44%
ety ot Wl A 3ht wrf W w1 Resoa 39 ©f TR 2

Which of the following best describes the title of the given passage?
Reu a1u srEnier @1 Halitrs suges oftde foaifetian 3f 3 a=n 87

[Question ID = 491][Question Description = $3_qSNz_PG_MGT_Q91]
1. Manifestations of productivity/sroesa o1 gayia
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[Option ID = 1961]
2. Remote working challenges/gzre e &1 galfee
[Option ID = 1962]
3. Work from anywhere/Erit st remer 3 ©F! - Braea

[Option ID = 1963]
4. Remote working for women employees/fizel Tl @ B g2y oda=n

[Option ID = 1964]

Correct Answer ;-
* Manifestations of productivity/sroman o1 yesia

[Option ID = 1961]

2) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system, But the large-scale implementation happened in 2012
when the US federal government across departments including Agriculture, NASA and the US patent office allowed remote work for employees. The
pandemic however has accelerated this phenomenon by 10 years. The acceptance of remote work by several companies globally, is ene of the few
blessings of an otherwise incredibly hard time. The companies pioneering its adoption will be the ‘magnets for talent' as it enables them to attract the
best as it grows.

The employees are expected to greatly benefit from remote work as their control over their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their perscnal style, while enjoying geographical flexibility to live wherever they want. People
could save more if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system can hire talent globally with ease and increase productivity. In the US patent office, productivity went up by 4.4%

when it moved to work from anywhere, Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work,

Work from anywhere has the power to reshape our old understanding of work, Employees and companies connecting now in meetings of the mind have
mare fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent
inside office buildings.

Managers will however, need to be sensitive to bias against remote working. Even loneliness could be addressed by augmented reality. It is of significance

that the pandemic does not represent nermal times when schools, day cares and help will be available,
Remote wark actually suits women employees as many women forego career apportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic tog, the warld Economic Forum finds employers
are ready to give at least 44% of employees a work from anywhere option.

frrafilRan sEie @) tamgde ugm: gp o1 sl @ Jar b

dfa AGEAH @ 9% Glol @ dgd Usd &l T mulorll of Rl off o1 31 orl Sl &I guied @ elienr o2 trr e Reeg a3 Teme! uz 321 ad
2012 & @) o srn s sAfb! Farde Feiz of o, s Az 3Afybl O Hdifttan wifda of Remell 3 sl & i g7 3 orf o1 &
guiret! bl arggale & it Gifaw sert © ulwrrasa as g 3z 10 o & @ Re ael a6 srn 2 fPase sore wubrll &R 62 36w
@i foruiea weol &I ol o Figle seen sl ®ida s d oo awEl 3 2 v 38 origuic ©f susre arct el ouferl #
gfeen Haser cist i ot 3nd9) aifs sadt dgfy dia & wrer - aver Falcayee it o arsifa oo Ad wermar e 3
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ARYI it Dol usedl &, Faftpe dicht & e uz oz Ra @ a9 a1 aa 3 orf Biomes oz @om E 30 ag e oft o - 8 3 wa & R wadq
B 3 Al el AUgIGa 81¢ oRRI 3 AT A5 SCHR], ALl Hizmias eftc 21 aidicr vara & a6 d1 4 AR a@0 o2 J5d 8

gzeel @rl guirell o e sufern gt glorn 31 smansdl 2 giemare oifert & orgis o A®d 2 stz srurcoar 3 giy o a5 2 -
sty Ude siffiper & Reedl oft vemer A ol o Bt gomedl sraone sma @ @is Jruca | 4.4 yfviera @ o giy gf & ol sr ouett @&
gl Gcisiel ©f HId &b @2 32 9 [ 53 avg © odicliostl A 3o ®rl @ 3garcal # iz aiftre oeiel 31 ARIG <ol ©f JaHz e

ozt ot o1 31 TRt B30t &I gunell I oRl, T S geel T ® o TaEa o & gl € A s Jow! 3 Fsoarch suforl &
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IOl ARDIL b1 S Bl & YaKbRI ool 1 gzeel ®RI®I @ Y ugloatid Adedl galegg © givl Fidcoslie glon mizu alda aemelar & grer
sreperraat @t sy - gaorar w1 ot Brareor Roar s wowar 1 welwa: asend 3 apnsa weEs o Brefta 8l oxd 3 s wpa, 3 - o i
¥ olicp? IUcTot] Tiol geel Rl Yl aedga: FAlten wekie o fore siepe & aiis aga il afdany sied © 361 3Rl @l cae1 &dl 3 Boted
Zertel ut¥achsr gon onfire & afiz frerds vl Jord aifrariss sitasl # ofdensai Icuce 2nfl 2 cama 3 aers s & 3 9 orf oot & gooeh
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Wttt o A 3ft TR el @1 Rooa 35 o T E

Faced with double shift of official and domestic work, in which perspective working women benefited from remote
working?

wyriferdtar Jiiv ey e Siel faree @ wwon S5l a2 anwesh afdansi @t gyvy wrkeer A BeaftRaa 3 3 Bra dosf & gafyen Bedl?

[Question ID = 492][Question Description = 53_qSNz_PG_MGT_Q92]
1. Bridges gender diversity/Sizr Riftern

[Option ID = 1965]
2. Offers equal opportunity/ w=mrd I

[Option ID = 1966]
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3. Offers work-life balance /el 4t Sfiaer 3 Jgoe

[Option ID = 1967]
4, Favours their soft-skill disposition/=iz - Sivm Fema

[Option ID = 1968]

Carrect Answer :-
# Bridges gender diversity/sf=y fifuar
[Option ID = 1965]

3) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system. But the large-scale implementation happened in 2012
when the US federal government across departments including Asriculture, NASA and the US patent office allowed remote work for employees, The
pandemic however has accelerated this phenomenon by 10 yvears. The acceptance of remote work by several companies globally, is one of the few
blessings of an otherwise incredibly hard time. The companies pioneering its adoption will be the 'magnets for talent' as it enables them to attract the

best as it grows.

The emplayees are expected to greatly benefit from remate work as their contrel aver their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their personal style, while enjoving geographical flexibility to live wherever they want. People

could save more if they move to smaller towns, They could choose to move to a better climate or to a culturally preferred location,

Companies with a remote work system can hire talent glohally with ease and increase productivity, In the U$ patent office, productivity went up by 4.4%
when it moved to work from anywhere. Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work.

Work from anywhere has the power to reshape our old understanding of work. Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent

inside office buildings.

Managers will howaver, need to be sensitive to Bias against remote warking. Even loneliness could be addressad by augmeanted reality. It is of significance
that the pandemic does not represent normal times when schools, day cares and help will be available.

Remote work actually suits women employees as many women forego career opportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic too, the world Economic Forum finds employers

are ready to give at least 44% of employees a work from anywhere option.
fBreafer¥a srerior @) taragde ggow: g s1e Qs & e Gt
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Wi Brarget @weel G yomedl @1 s<dikpler s srafinn el wa A i@ awEil 4 A vw § 339 erRigud ®fF 3ol acll sppeit wuferl #
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gzrel orf guieh &1 sgenre: oufori gt gforr 3 sirarit 3 gitnmas waerl of glte o aed & s srucom A gfig o I pa & -
safydst 92t sfifea 3 ol oft zene & ol weal Bt gonedt sraene st @ @ somga # 4.4 gftrera am B gfy 58 8 avaland sror wiasht ©
gifl @St w1 HId oeb @2 1 A K 591 aee @ odiciass A soé R @ Aeancel d 311 sif2es oetd 3 A9icTel el W s e

Rt ol s A @Rl weo O gonedl d orl, skl & gerell Jers 1 o/ Fawed S0l W S & ik 3| dowl i Sgorarcdl wufrl @
giciforfery 3 gof worfcre emélive sufraf, Mgl Har iz oriick @ sdel @ ilaz D7l o I cxila ol &l goTF ARD
IFSTOIADI DI HFHSA el & YatrbRI ool @ e wrimv @ gfer ugivela At galee @ gfer ddosiia glon 2y afda aenefan <5 g1
MDel bl MG - Yavrl oI ot oanu fiear @ oo € arelea: #eEill 33 A6 SrerEs ®f Gielia ol oxdt 2 o @@, 3 - e i
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ety ot Wl A 3ht wrf W w1 Resoa 39 ©f TR 2

Which one of the following best describes the benefits of remote working for employees?
foramiiiiea # A Rperl el ©1 g+ wrimwr 3 e acdl gafaen & wxlaa <s=n sikd 37

[Question ID = 493][Question Description = 53_qSNz_PG_MGT_Q93]
1. Temporal flexibility/ s odiarmer

[Option ID = 196%]
2. Cultural cohesiveness/awelcms Secmar

[Option ID = 1970]
3. Climate conditioning/=wmmr] smarpra

[Option ID = 1971]
4. Family bonding/egga 3 tema

[Option ID = 1972]
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Correct Answer :-
o Temporal flexibility/ st adieme

[Opticn ID = 1969]

4) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system, But the large-scale implementation happened in 2012
when the US federal government across departments including Agriculture, NASA and the US patent office allowed remote work for employees. The
pandemic however has accelerated this phenomenon by 10 years, The acceptance of remote work by several companies glohally, is one of the few
blessings of an otherwise incredibly hard time. The companies pionesring its adoption will be the ‘magnets for talent' as it enables them to attract the
best as it grows.

The employees are expected to greatly benefit from remote work as their control over their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their persanal style, while enjoving geographical flexibility to live wherever they want. People
could save more if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system can hire talent globally with ease and increase productivity. In the US patent office, productivity went up by 4.4%

when it moved to work from anywhere, Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work,

Work from anywhere has the power to reshape our old understanding of work, Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent
inside office buildings.

Managers will however, need to be sensitive to bias against remote working. Even loneliness could be addressed by augmented reality. It is of significance

that the pandemic does nat represent nermal times when schools, day cares and help will be available,
Remote wark actually suits women employees as many women forego career apportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic tog, the world Economic Forum finds employers
are ready to give at least 44% of employees a work from anywhere option.

formteiian smerior @l aydd usm: U 218 Yeal @ Jaz 2 |
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According to the passage, which one of the following is the most significant challenge to employees working from remote
places?

SIELRI W IOAIR, T TUIG 3 Wl el arxl walwl @ R w1 w3l geildl bewikoa 3 A @=n &7

[Question ID = 494][Question Description = 53_qSNz_PG_MGT_Q94]
1. Cloud data security/ammss w1 Brreiid

[Option ID = 1973]
2. Augmented reality/afiT sl

[Option ID = 1974]
3. Work life constraints/mrf staer @t micemsa

[Option 1D = 1975]
4. Promotional bias/qesiia 3 IR [g@isE

[Option ID = 1976]
Correct Answer ;-
e Cloud data security/aomes =wr Breidd
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[Option ID = 1973]

%) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system. But the large-scale implementation happened in 2012
when the US federal government across departments including Agriculture, NASA and the US patent office allowed remote work for employees. The
pandemic however has accelerated this phenomenon by 10 years, The acceptance of remote work by several companies glohally, is one of the few
blessings of an otherwise incredibly hard time. The companies ploneering its adoption will be the ‘magnets for talent' as it enables them to attract the

best as it grows.

The employees are expected to greatly benefit from remote work as their control over their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their persanal style, while enjoving geographical flexibility to live wherever they want. People
could save more if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system can hire talent globally with ease and increase productivity. In the US patent office, productivity went up by 4.4%
when it moved to work from anywhere, Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work,

Work from anywhere has the power to reshape our old understanding of work, Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent

inside office buildings.

Managers will however, need to be sensitive to bias against remote working, Even loneliness could be addressed by augmented reality, It is of significance

that the pandemic does nat represent nermal times when schools, day cares and help will be available,
Remote wark actually suits women employees as many women forego career apportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic tog, the world Economic Forum finds employers
are ready to give at least 44% of employees a work from anywhere option.

formteiian smerior @l aydd usm: U 218 Yeal @ Jaz 2 |
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gewer wred qorelt @ srgeer: wafern ot glrr 3 arareh 3 gftsiaer avekoE Bt Brafs 2 Tea § sz scacom 3 ofy o aoa § -
3Afyh! Ude diifipar 3 Rpadl oft Temm 31 @Rl Brel &I Yo g el & aK sruca # 4, 4 gidor o &f gig gf § Dalardl a1 ousl &
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Dafenfsal ot Bdf A oft Rl ool @1 fdcu oy &t daz &

Which one of the following is the most incipient benefit of adoption of work anywhere system?
Rozit 9t oot 95 wrl ot Ot Yoredl ©1 arosiel @ Boasy Faitnr s gfoen Beeikea d 3 o= 87
[Question ID = 495][Question Description = 53_q5Nz_PG_MGT_Q95]

1. Productivity improvement/smusam # IR0

[Option ID = 1977]
2. Better gender diversity/%aas S5z fafterm

[Option ID = 1978]
3. Increased employee loyality /ool ©t ot &% frawsizrn

[Option ID = 1979]
4. Lesser employee engagement cost/mmiai=l &1 Brfts o slisnaa =0 ==

[Option ID = 1980]
Correct Answer ;-
® Productivity improvement/srarsasn 3 gur

[Option ID = 1977]

Topic:- Management_SHAAN_NOV21C
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1) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc. They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
very high in Delhi. They want to focus on the quality of their products and still want to fight the competition. They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them.

forraifeifian =rener wl ufew 307 ol RBe sl @ 3z difbm ¢

XYZ wuett armer, d31e1, diet anfe aeagpeil uz Begn vweaHlslt srusl o <o it 8 arlwna s 3 9 el & aee st 3§ coaars o=
2% Reol # #ier o T gu d gl Reell # anuet sruei o fRrowre e asd § fRiffea aee (i i asne adamn o uea & aK el
aran 5 Reelt # giteaat aga sftrs 3 a6 et Y sperorn a3 e B ween wsd § 36z gftrraed o) wwon mea ¥ @ Reedt # q@u
BHHI THA AU G @ oy faaurer sk semen aea Y ot © e 3eial Arasb! Jords iy fauurer woieiii goret @ i ydaers
ferer (garit-feectt) forged foem 2

As the Marketing Manager of XYZ company, what type of pricing strategy would you recommend?
arrer, diet, it anfd up. el srurh & XYZ susht & fiuaurer gdre @& »u # féoa gmiz & Jcaer wieitfer & arapeian o =i st 87
[Question ID = 496][Question Description = 53_qSNz_PG_MGT_Q96]
1. Image pricing/ =R s (80 getier)
[Option ID = 1981]
2. Complementary pricing/smyzs Jedal

[Option ID = 1982]
3. Captive pricing strategy/ ey e il

[Opticn ID = 1983]

4. Loss leader strategy/ i st sostf
[Option ID = 1984]

Correct Answer :-

® [mage pricing/=f e (9 gElien)
[Option ID = 1981]

2) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc, They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
very high in Delhi, They want to focus on the quality of their products and still want to fight the competition. They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them,

forgmieiian srerion =1 ufgw sfiz ol féw ool @& 3az difsm ¢

XYZ ousht arrer, dwet, Jiel e gl uz dioga vh.eailal srac] o <R ol 8 adere 29 # d Reddl @ aer sfewn i =aam &2
@ F Rocl # aivr o 3w 5¢ A gft Reell 3 sraor srarct o Rraoror weer amsa 3 Riftoor gz Frdd siiv aenr adarr o1 agol 8 ac Iosior
urn 5 Reclt 3 giteast aga siftes 1 d aram 3caet B s ar s Diegr e e & sz gieued it ween area £ O RBoch & gaer
DA TFA ol FAHAR @ fog faurer zorsiifer gomon aza § Yan oot @ 16w Iegior smad) 3ords e fauuier zoriifer gonst @ e ydeus
v (gumi-fooedl) orpre koar &

What basis can be used for segmenting the market for FMCG products like Atta, Besan, Maida etc ?
3T, 33, Aol ale vp.wa.HE. srac @ R amme @ @skown & o Roa snene w1 gueiler Reen s swoan 87

[Question ID = 497][Question Description = 53_qSNz_PG_MGT_Q97]
1. Demaographic bases segmentation/ woaiiera 38w FPEecom

[Option ID = 1985]
2. Geographic segmentation/ afsliferes wdiazn

[Option ID = 1986]
3. Psychographic segmentation/aemiier Tk

[Option ID = 1987]
4. Behavicral segmentation/=merem wdazn

[Option ID = 1988]

Correct Answer ;-

® Demographic bases segmentation/wmaii=rbma 359 IPEecem
[Option ID = 1985]

3) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc, They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
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covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
very high in Delhi, They want to focus on the quality of their products and still want to fight the competition, They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them.

feraifeifian =Ener wl uigw 37 ol Re sl @ 3z dibm ¢

XYZ wustt amrer, d31e1, diet anfe aeqpeil uz Bign vweadlsl srusl o1 <oem wxit 8 arfwne s 3 9 ol & aee st # caars o=
2% fRoch 3 oo o 2= gu a gt Recht 3 smgel Icurct &1 faurer wzen aned 8 fafiieor e fré itz e adsnn &t uge! & ag Joaler
urn 5 Recdt 3 gitast aga siffes 4 araa 3caet 6 s ae s iega e s & iz gieued sit ween area £ O Boch & gaer
BHI T AU AR @ oy faaurer s semen aea 2 Y ot © e 3eeial Aracb! Jords fony fauurer woreiiir gonet @ o gdaers
Rraerar (geirfl-Reelt) forges fvar 8

Once the market for FMCG products like Atta, Besan, Maida etc has been segmented, what targeting approach will you
advocate?

U AR AT, d3el, #iel ante ow.nadlsh. sruel & fore amr o wElaa o © ag fauure yEeres & su d aud g faavre asaa & e
zltemivr &t 7RI € Seit?

[Question ID = 498][Question Description = $3_qSNz_PG_MGT_Q98]
1. Single segment concentration/mwT Tws g

[Option ID = 1989]
2. Selective specialisation/crmmrne g

[Option 1D = 1930]
3. Market specialisation/fooe Bgrdicszo

[Opticn ID = 1991]
4. Product specialisation/srue R
[Opticn ID = 1992]
Correct Answer :-
# Single segment concentration/were T F@gn

[Option ID = 1989]

4) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc, They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
very high in Delhi, They want to focus on the quality of their products and still want to fight the competition. They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them,

forgmfeian srerion =1 ufgw siiz ol féw ool @ 3az difsm ¢

XYZ oustt arrer, d3e1, Jiel e gl uz ioga vh.eailal srac] o <R ol 8 adere 2er # d Reddl @ ae: shewn i saam &2
B E Rooh 3 i w1 2w v & oft Reckt # sraor srarst w1 Rraorer wyaen asa ¥ Rifdcer amrz A siiy aene adamor @1 agel 45 ag 3osier
urn 5 Reclt 3 gitast aga siftes 1 a aaa 3cael 6 s e s Bieg e aisd g iz giveued it ween e £ O Boch & gaer
DI TFR HUol FAHAR D forg faurer zorsiifer gomen @z § Yo oot @ 18w Ieglior Amad) 3ords o fauuret owiifer gonet @ e ydes

fRrower (gerrdi-focedt) forrs Roan 2

For distribution of FMCG products like Atta, Baisan, Maida etc, what type of distribution strategy will you recommend?
31T, A3E, gt e v witsh. srast @ R & Ruva yders @ $u d amu Rew qepr &1 Reror soshifen 6 sigeisn wis?
[Question ID = 499][Question Description = 53_qSNz_PG_MGT_Q99]

1. Intensive distribution /= S

[Option ID = 1993]
2. Selective distribution/ e oo

[Option ID = 1994]
3. Exclusive distribution/amm

[Option ID = 1995]
4. Dual level of distribution/fRosn = S =2

[Option ID = 1996]
Correct Answer :-
e [ntensive distribution/sem R

[Opticn ID = 1993]

5) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc, They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
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very high in Delhi. They want to focus on the quality of their products and still want to fight the competition. They want to

create a marketing strategy for their business at the time of entering the Delhi market, For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them.

Brraftfina sreror o1 afge iy sh e gl @ saz s :

XYZ waeht ammer, w61, Jer anfe avragsil uz B vw.oarilsl seaict o saaarr waft 3 admer wwra # @ Reclht & aisy shwon # saaarr o3
@3 Rl # #ier ot 2ot g @ gfl Reell & st srue o frvma war asa 2 fifdies arenez Paid siiz asme adar o uea @& T Jesial
uran & Reeht 3 gfteuaf aga aftres 8 4 araol sruicl &1 spura uz tarel dfogn wren ared & stz gferued off wwen aey € 9 Reelt & gdor
W HTHA 36 FGAIE O e Ravra 3o somer aed § 0 owa © Rio soaier snorn! 3od e Rmvier il aam @ e gatme
ferauiel (gardl-féeet) forepep foan 8

As a manufacture of FMCG range of products such as Atta, Suzi, Maida, Baisan etc, what type of trade promotion will you
recommend for Dealer/Distributors of your products?

e, gait, fict, dver 30 vw.wa s stat © Rfdmiar © Fa 3 sna g sract @ Stad/Raset © e fva gor @ samr datls &
M HIN?
[Question ID = 500][Question Description = $3_qS5Nz_PG_MGT_Q100]

1. Trade discounts/=mr &g

[Option ID = 1997]
2. Bundle pricing/ dser grtiier

[Opticn ID = 1998]
3. On pack coupons/ sifel G ot

[Option ID = 1999%]
4, Free samples/Hur semt

[Opticn ID = 2000]
Correct Answer :-
® Trade discounts/=m g

[Option ID = 1997]

Topic:- GP_30NOV_A

1)

Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.

Total number of seats are given in brackets with respect to each course.

|Number of Enrolled Students
Year
[BTech (120) MTech (30) MPhil (20) |MBA (60)
2016 [96 24 12 l52
2017 [110 26 14 57
2018 (108 25 13 54
2019 [112 28 15 56
2020 (104 27 16 48

forrmfertian srevll o taegds ufgu iz Iad ac Y a1e yeal & I dfom ¢

foraifertiaa zrevil 3i fopell oo urgargA 2z ad fadm 3 weil fenfifl &Y dwemn @ o 3 gy uigaas & Fder 8 Hid & o dAwa ores #
SAIEE:

eAdifepa fenfeRi Bt dwm
- & = oI, 2 . e L2 R Ao
(120) [(30) [(20) [(60)
2016 |96 24 12 (52
2017 110 26 14 [57
2018 108 25 13 (24
2019 112 28 15 [26
2020 104 27 16 48
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What is the average number of vacant seats of B. Tech for years (2016-2020)?

ad (2016 - 2020) ¥ diew 4 iaa e i< & sfiaa e 8 ?

[Question ID = 501][Question Description = 52_qSNz_PG_GP30_Q01]
1. 14

[Option ID = 2001]
2. 15

[Option ID = 2002]
316

[Option ID = 2003]
4, 17

[Option ID = 2004]

2)
Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.

Total number of seats are given in brackets with respect to each course.

[Number of Enrolled Students
Year
[BTech (120) iMTECh (30) MPhil (20) IMBA (60)
2016 |96 24 12 B2
2017 1110 26 14 B7
2018 108 25 13 54
2019 112 28 15 [56
2020 104 27 16 48

foramfciRan Al @ tmorgede ufew Jfie 3o ar g8 =12 Yeatl o e difbm ©

Rraftifiaa wrvit # Rosll oo ugersa iz ad fagha # sxil Renfil 6t i & o 2 gy wigeraps @ e # Hid &t o sz oo J
darg g

et Renfin & s
=« il & 7 M . fiber TAEHLE.
(120) [(30}) [(20) [(60)
2016 96 24 12 52
2017 110 26 14 57
2018 [108 25 13 [54
2019 (112 28 15 [56
2020 104 27 16 48

Which course has the highest percentage increase in enrollment of students from 2016-20177

2016 & 2017 aw Rva argerags # st Rl 3 soaam gfererm iy 55 8 7

[Question ID = 502][Question Description = 52_qSNz_PG_GP30_Q02]



www.prepp.in

| 1. BTech/dl e®

[Option ID = 2005]
2. MTech/mmew

[Option ID = 2006]
3. M Phil/osftse

[Option ID = 2007]
4. MBA/madiw,

[Option ID = 2008]
Carrect Answer :-
& B Tech/dt 2w

[Option ID = 2005]

3)

Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.

Total number of seats are given in brackets with respect to each course.

Number of Enrolled Students
Year

[BTech (120) [MTech (30) MPhil (20) [MBA (60)
2016 |96 24 12 2
2017 [110 26 14 57
2018 [108 25 13 54
2019 [112 28 15 56
2020 (104 27 16 48

ferateil¥aa arvil @ tmergde ufee ofiz 3o ag gp ome Qs o s 4w @

prepp

Your Personal Exams Guide

Rraftifiaa wrvit # Roll oo ugersa iz ad fagha # sxil Renfil 6t i & o 2y uigeraps @ e A Hid &t o sz oo J

e o3-S
et Renfin & s
- ol & UH. ¢ . fiber TAEHLE.
(120) [(30}) [(20) [(60)
2016 96 24 12 52
2017 110 26 14 57
2018 [108 25 13 [54
2019 (112 28 15 [56
2020 104 27 16 48

Find out the difference between average vacant seats of M Tech and MBA for 2016-2020.

2016 - 20 @ Siwra wareey iz waadte. 3 siiaa Prap A1t o1 siae aar aensy

[Question ID = 503][Question Description = 52_qSNz_PG_GP30_Q03]

1. 2.4

[Option ID = 2009]
2. 2.5

[Option ID = 2010]
3, 2.6

[Option ID = 2011]
4, 2.7

[Option ID = 2012)
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Correct Answer :-
e 2.4

[Option ID = 2009]

4)
Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.

Total number of seats are given in brackets with respect to each course.

Number of Enrolled Students
Year
[BTech (120) MTech (30) MPhil (20) MBA (60)
2016 [96 24 12 [52
2017 (110 26 14 [57
2018 (108 25 13 [54
2019 (112 28 15 [56
2020 (104 27 16 48
forrmferfian zrevlt &l taegdes ufen iz 3nd ag Y o1e et & Inz dfom ©

forraifertiaa zrevil 3t fopall oo urgergH iz ad fadr 3 weil Renfifd 6 dwen @ o 2 v uigaaa & Fder 8 Hid S o dAwa orses #
qogs:

Giditcne fRrenfedi Gt Fweem
= dl, ¢ W, oD wa, fiber wadle
(120) [(30) [(20) [(60)
2016 |96 24 12 52
2017 (110 26 14 57
2018 108 25 13 [54
2019 112 28 15 [56
2020 (104 27 16 438

Which year has highest average enrollment?
foomr aef & Feam e awif g£ 27

[Question ID = 504][Question Description = 52_qSNz_PG_GP30_Q04]
1. 2017

[Option ID = 2013]
2. 2018

[Option ID = 2014]
3. 2018

[Option ID = 2015]
4. 2020

[Option ID = 2016]
Correct Answer :-
s« 2017

[Option ID = 2013]

3)
Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.
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Total number of seats are given in brackets with respect to each course.

Number of Enrolled Students
e BTech (120) [MTech (30) MPhil (20) MBA (60)
2016 [96 24 12 [52
2017 1110 26 14 [>7
2018 (108 25 13 [54
2019 (112 28 15 [56
2020 (104 27 16 48

formteian arvil @ samgds ulee iz sud ag gd 218 sl @ 3uz dbm |

forraferfiaa zrevft 3t forelt ver urgeraga 2z ad fada 3 il faenfi 6 sizen & o 3 Y@ wigaas & Ad 3 A 6 oa dwn oreos #
qaEd:
Giditene fRrenfedi Bt Fwem
o dl, ¢ 2 M ) a1, fiser JLr K AL
(120) [(30) [(20) [(60)
2016 96 24 12 52
2017 (110 26 14 57
2018 108 25 13 [54
2019 112 28 15 [56
2020 (104 27 16 48

Which year has the minimum vacant seats?

fepa add 9 o e epooa B & ?

[Question ID = 505][Question Description = 52_qSNz_PG_GP30_Q05]
1. 2016

[Option ID = 2017]
2. 2017

[Option ID = 2018]
3. 2018

[Option ID = 2019]
4, 2019

[Optien 1D = 2020]
Correct Answer :-
« 2016

[Option ID = 2017]

Topic:- GP_30NOV_B

1) Who proposed theory of meaningful verbal learning?
el enfeew af2Em @ Rigia o giimrcs feas Roar ?

[Question ID = 506][Question Description = 52_qS5Nz_PG_GP30_0Q06]
1. Benjamin Bloom/#smiEm soa [Option 1D = 2021]

2. Jerome Bruner/sEE goz [Option 1D = 2022]

3. Lawrence Kohlberg/mia wiguet [Option D = 2023]

4, David Ausubel/2F= digda [Option 1D = 2024]

Correct Answer :-
& Benjamin Bloor/#=nEa w0 [Option 1D = 2021]

2) The steps involved in developing a performance test are

A. Develop an observation/rating form.
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B. Try out the test items before developing a final form.

C. Conduct a job (task) analysis to determine what abilities are to be tested.
D. Develop an administration format

E. Develop some type of task-sampling plan.

Choose the correct answer from the options given below

foreurer aisn Rl oo 3 forafifaa won onfia & ;

A, Yaror / forerfzor yur freplnT oo

B. siferar qurg el ool 2t gd adleior 36l @1 seiare

C. udtgm &) FAcardl Al o1 forerifya oo & fore orf fRAedaor swon

D. wws genafors wiiie frsiia own

E. us ymr &t =R - gl deren sl owen

oller 6w s1e fampeal 3 2 FE Fre &1 aas DHifag ¢

[Question ID = 507][Question Description = §2_qSNz_PG_GP30_Q07]

A, D, B, C, E [Option ID = 2025]
C, A, E, D, B [Option ID = 2026]
D, B, C, E, A [Option ID = 2027
B, C, D, A, E [Option ID = 2028]

A }CJ
D

T

N VY S

Correct Answer -
e A, D, B, C, E [Option ID = 2025]

3) Given below are two statements

Statement I: As per Piaget's stages of cognitive development, the child learns a language and begins to use symbols to
represent objects during the pre-operational stage.

Statement II; As per Piaget's stages of cognitive development, the child learns through reflexes, senses and movement-
actions on the environment during the formal operational stage.

In light of the above statements, choose the correct answer from the options given below

T ) o ke smg & ;

Dol - | A S faor @ URre @ ol @ g gd - JHpIIeHs 201 @ Sizicl areias el Hiadr 8 aiiz azqail @ gorler @ férg geiloi
5T GRIST WYl N a5 e B

averot - || @ wsnwancarr R @ et & ol © sigpar siaambes Afigzrae aver @ Siaa arer gferad, sBoai a gatasor 3 siffy - Rgn @
FreaA A Ham

ITe DuEl & AclS A, ol Ku s1e [ecul # 3 w78l 3az o1 wera $ifae ¢
[Question ID = 508][Question Description = 52_qSNz_PG_GP30_Q08]

1. Both Statement | and Statement Il are true/wem | iz || &= =g £ [Option D = 2029]

2. Both Statement | and Statement [l are false/wemr | 3 1| S s £ [Option 1D = 2030]

3. Statement | is true but Statement Il is false/wem | e £, fveg wem 1| spw & [Option 10 = 2031]
4, Statement | is false but Statement Il is true/wem | sewa &, Posg o || s & [Option 1D = 2032]

Correct Answer :-
& Both Statement | and Statement |l are true/mem | diz | si=t s & [Option D = 2029]

4) ldentify the correct set of key mandate areas of the National Knowledge Commission
A. Access

B. Concepts

C. Delivery

D. Applications

E. Services

Choose the correct answer from the options given below:

LT SIGI ARIST O J3EA AfUCor gl @ T Ae DY ggarel Hifw |

A, uga
B. arasmzon
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C. gere

D. srqpoeet

E.

i) f8u a1e Rrpoul 9 31 w18t Fne @l o=m ifans :

[Question ID = 509][Question Description = 52_qSNz_PG_GP30_Q09]

1. A, B, Cand D only/dwr A, B, C iz D [Option 1D = 2033)
2. B, C, DandE only/aae B, C, D 4z E [Option ID = 2034]
3. A, B, Dand E only/a@aer A, B, D afiz E [Option ID = 2035]
4. A, C, D and E only/daer A, C, D @iz E [Option 1D = 2036]

Carrect Answer :-
o A B, CandDonly/daa A, B, C &tz D [Option 1D = 2033]

5) Match List | with List lI

List | IList 11

Indian ICT

initiative [Purpose

A, e- |. Open educational resources developed by

Gyankosh NCERT in 2013

B. e- Il. Digital repository of learning resources
Pathshala developed by ODL institutions

lll. Educational e-resources developed by

. NROER
C-HRO NCERT in 2015

[IV. Virtual repository of learning resources with
D. NDL single window search facility developed by IIT,

|Kharagpur

Choose the correct answer from the options given below:

TRt -1 @ et -1l 9 AR Hifw

R -l Bl
(st &

mm]l{ﬁ@ﬂ}

A. 3 - l. wot #it § sz & zrr 2013 3 RepBm o difdne
GG R ) TG

B. % - I, sidtoa diveneii grr famhkin afem daresEi o
LIS QIIET 9

C. war amz a|lll, wer 2t § ame & g 2015 3 el diférs £ -
3T FiHIEIol

D.eadt |V, adadd meserg g v [S! o sforer ghasn &
el er RepBinra siféema Swerett @ st To)s

ofr fo a1g sl & 2 w1t ga= giong ¢

[Question ID = 510][Question Description = §2_qSNz_PG_GP30_Q10]
1. A-IV,B-1I,C-1Il,D-I

[Option ID = 2037]
2, A-I,B-1ILC-1,D-I

[Option ID = 2038]
3. A-NLB-1,C-1V,D-1I

[Option ID = 2039]
4, A-1,B-IV,C-I1,D-1

[Option ID = 2040]
Correct Answer :-
e« A-IV,B-I,C-1I,D-I
[Option ID = 2037]
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6) The concept "paradigm"” is associated with:
"wamell” (UFsEH) &t aaaren feed are St 2 7

[Question ID = 511][Question Description = 52_qSNz_PG_GP30_Q11]
1. Karl Popper/mrt iz [Option (D = 2041]

2. R. A. Fisher/am u firgr [Option ID = 2042]

3. Imre Lakatos/sar erwia [Option 1D = 2043]

4. T. 5. Kuhn/&. w1 o [Option 1D = 2044]

Correct Answer :-
® Karl Popper/aoed diwz [Option (D = 2041]

7) Which among the following is a software for the analysis of qualitative data?

forraiferfianT 3 2t io1 711 HivedwR FTHS < (3e1) D Redau & e 8 7

[Question ID = 512][Question Description = 52_qSNz_PG_GP30_Q12]
1. SPS5/we df wer wag [Option D = 2045]

2. R/amz [Option [D = 2046]

3. NVivo/wsr g5 [Option 1D = 2047]

4. STATA/ua & wdt g [Option 1D = 2048]

Carrect Answer :-
& SPSS/ox f wy e [Option (D = 2045]

8) Following are the objections against mixed methods research:

A. Quantitative and qualitative research are epistemologically different

B. Quantitative research is better than the qualitative research

C. Aims of quantitative and qualitative research are different

D. Ontological assumptions of quantitative and qualitative research may be different
E. Quantitative and qualitative research are paradigmatically incompatible

Choose the correct answer from the options given below:

frfer faf?r oner 9@ Risg amuftrn PewfelRan 3 :

A. AT G IUIIRD YL SoRiaRRT 30 3 o &

B. sponeaes giter &l gotel & AHA® 91 dEaz &

C. A il S AS ol1e & ciga fieel 2

D. sgras siiz spuincae onel B avpilaiEa gdarons ficer sl smdl 8

E. argeae stz spunea oftel waracl sigare

oiil 18 =1u famcul # 31 A8 Iz @1 oI BT 2

[Question ID = 513][Question Description = 52_qSNz_PG_GP30_Q13]

A, B, C and D only/dsaa A, B, C diz D [Option 1D = 2049]
B, C, Dand E only/@=t B, C, D diz E [Option ID = 2050]
A, C, Dand E only/=wmm A, C, D iz E [Option 1D = 2051]
A, B, D and E only/drT A, B, D &z E [Option 1D = 2052]

e it BRI

Correct Answer :-
e A, B, CandDonly/=xra A, B, C iz D [Option 1D = 2049]

9) Match List | with List Il

List | IList 0
Research
Concepts [Definitions

|. A mode of interview whereby there are several
participants with an emphasis on the questioning on
a tightly defined topic

A, Constant

Il. The segment of the population selected for

B. Semiotics
research

lll. An attribute in tTerms of which cases do not

¢ Eampl
AITRE differ
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V. An approach to the analysis of documents and

D. Focus grou
e }cther phenomenon

Choose the correct answer from the options given below:

et -1 B 3t -1l 3 wghfera Bife

et | et -1

{omer grarr) [(afsrard)

|. smgnrmTE B oo R Bt seis giRemeh auinfa

A, Bes (edc
( ) UZ Qo g FeY U 9T Sa 8
B. sda Rrsner
. fil. @1 b TUs faael oiter & fere gom srem &
(RiRiiRT) ok =l

C. giteof (Fue) (I, o syu1 Sl Miea aconall & Fida A yufatda e &

D. IBgur 73E
[IV. seadsti aen e aconsil & v Rivdsaw agfa
(Srew= 3pq) d

sk o oo Repedl & 31 w16l 3= gfone :

[Question ID = 514][Question Description = 52_q5Nz_PG_GP30_0Q14]
1. A-ULB-IV,C-1,D-1

[Option ID = 2053)
2. A-ILB-UL,C-1,D-1¥Y

[Option ID = 2054]
3. A-LB-NU,C-N,D-IV

[Option ID = 2055]
4, A-IV,B-1,C-1,D-1

[Option ID = 2056]
Correct Answer -
e« A-NILB-IV,C-N1,D-1
[Option ID = 2053]

10) Given below are two statements
Statement I: Questionnaires are filled in by the participants themselves.
Statement Il: Interview schedule is filled in by the interviewer/researcher.

In light of the above statements, choose the most appropriate answer from the options given below

ol <1 erer fEw s &

el - | ¢ gremalerl AsmSrIl gt Fa il wwdl 3

weord - || ;| Fnemrer s Agneer ©at / elersal ST st andt

ITe DuEl & AcllS A, ol e s1e [Aecul #d 3 J93 3ugTe 3d2 o oad il ¢
[Question ID = 515][Question Description = §2_qSNz_PG_GP30_Q15]

Both Statement | and Statement [l are correct/wem | & | dieif w1t & [Option ID = 2057]

Both Staterment | and Statement | are incorrect/wem | A || Sist arewr & [Option [0 = 2058]

Statement | is correct but Statement Il is incorrect/wemr | @8 &, fsg wem |l srmr & [Option ID = 2059]
Statement | is incorrect but Staterment [l is correct/wemE | srmr &, freg oo || ==t & [Option 1D = 2060]

R

Correct Answer :-
@ Both Statement | and Statement |l are correct /asee | 2z || Sl 3=t € [Option ID = 2057]

11) The Latin words "Communis” or "Communicare” from which the term "Communication™ is derived, means:

drilell gres "HRIferdl Al "wRlbrirr |, Rl "oyl (FTR) ue &I srulkd 35 8, ®rawi 3

[Question ID = 516][Question Description = 52_qSNz_PG_GP30_Q16]
Provide specific information/fafsree Fzan qgim Tzen [Option 1D = 2061]

Make something uncommeon. st sarmEr [Option 1D = 2062]

Make comman, the information available / sueme Fmen ot Tmea e [Option 1D = 2063]
Produce information/ J@er @ior wsen [Option ID = 2064]

R

Correct Answer ;-
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# Provide specific information/fafdme JEen qgre ezen [Option 1D = 2061]

12) Power and status are said to cause barriers in communication.

wal =i 2 B oiftn 3z 30w doe | w5 3= wvgoo wa & ?

[Question ID = 517][Question Description = 52_qSNz_PG_GP30_0Q17]
1. Technological/gien@mbrr [Option (D = 2065]

2. Cultural/si=gire [Option 1D = 2066]

3. Physical/yitfier [Option 1D = 2067]

4, Semantic/gwerf - Haedt [Option ID = 2068]

Correct Answer ;-

s Technological /disnBrbrr [Option [D = 2065]

13) A class conducted on Google Meet in which students and teachers are engaged in discussion in an instance of:

apra Hic uz amRitsra e, o fdend iz Rigre oot 3 oel 8, formitridan 3 31 foome 3ere & ?

[Question ID = 518][Question Description = $2_qSNz_PG_GP30_Q18]
Intrapersonal communication/smedakee [Option 1D = 2069]

Group communication /s sanz [Option D = 2070]

Mass communication /sezime [Option 1D = 2071]

Downward communication/:risml e [Option 1D = 2072]

oW =

Correct Answer :-
® [ntrapersonal communication/da=dafkes [Option 1D = 2069]

14) Being a smart consumer of media means:

M2 @5 Fard Foeilvor wr e B

[Question ID = 519][Question Description = 52_qSNz_PG_GP30_Q19]

1. Following a few select TV channels one likes/ amstt oois @ yrw gitisr Jercd wT s wean [Option 1D = 2073)

2. Belief in a few mass media channels/smriar o apr fer & fera [Option 1D = 2074]

3. Disbelief in messages received/gm w2eil & e [Option 1D = 2075]
4. Being adept at recognizing subtle and not subtle forms of messages/3uil & g i 2o =4l o1 vgaE # adsm [Option 1D = 2076]
Correct Answer :-

s Following a few select TY channels one likes/xosl wig & w5 gisiar Sadl @ agAwn oz [Option ID = 2073]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Two fundamental features of classroom communication are classroom instruction and classroom management.
Reason R: The classroom communication of teachers rests on the principle of edutainment.

In light of the above statements, choose the correct answer from the options given below

ofiY 31 e 2w smr | wop arfdroera (Assertion A) @ a3 aiiz g1 s o (Reason R) @ w=a d ;
Afdreperd (A) @ e d Blol el AFguer &l 31 glornd! fafdrceare E ogn # 12T sl am e[Sl 9 well gdea
@w1zvl (R) ; f91erpi @1 o Fgum #Aallisa @ firgia uz ok s &

IUATE Bl @ ACT #, o Ry famedl # 3 718 az o wre Hifswe |

[Question ID = 520][Question Description = 52_qSNz_PG_GP30_Q20]

Both A and R are true and R is the correct explanation of Af(A) diz (R) gt swa £ diw (R), (A) & =t o & [Option ID = 2077]

Both A and R are true but R is NOT the correct explanation of A/(4) iz (R) g wwa & uawg (R), (A) &5 & =ne=m it & [Option ID = 2078]
Ais true but R is false/(A) =3 £, o (R) apm= & [Option (D = 2079]

A is false but R is true/(A) spw= &, memg (R) wrr £ [Option 1D = 2080]

P it R

Correct Answer :-
& Both A and R are true and R is the carrect explanation of A/(A) 3z (R) 29t @we & 4z (R), (A) &t =t omeem & [Option 1D = 2077]

16) The unit digit of the product of first 22 natural number is

gera 22 gryftrr sl & st o1 SR 3w T 3 7

[Question ID = 521][Question Description = 52_qSNz_PG_GP30_Q21]
Fl)

[Option ID = 2081]
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[Option ID = 2082]
3. 4

[Option ID = 2083]
4. &

[Option ID = 2084]
Correct Answer ;-
e« 0

[Option ID = 2081]

17) A sum of money placed at compound interest doubles itself in 4 years. In how many years will it amount to of times?

Tl Il U2 Sl g afdn 4 adl 3 gopell 3 aiedl 3 7 as 21idr Kool adl 3 8 oen a1 smeel ?

[Question ID = 522][Question Description = 52_qSNz_PG_GP30_0Q22]
1. 16 years/16 = [Option ID = 2085]

2. 12 years/12 = [Option ID = 2086]

3. 8 years/8 ud [Option ID = 2087]

4, 5vyears/5wmf [Option D = 2088]

Correct Answer :-
e 16 years/16 =d [Option ID = 2085]

18) Which of the following statements are correct?

A. The average of first twenty multiples of 8 is 84

B. There are 25 prime numbers between 100 to 200.

C. Average of ten positive numbers is X. If each number is increased by 10%, then new average increases by 11%.

Choose the correct answer from the options given below

foaiferfiaa werEll Uz fiar Hifo ;

A, 8 @& uza 20 o1 T B4 3

B. 100 2t 200 & dia 25 =g dAw=m &

C. 10 goras Fieamil ot diwa X 8 af? grde iz &1 10% et e airen 8, o o shiwa 3 11 % afy deft
FRivp derel 3 3 wier 3 / I st A B ?

[Question ID = 523][Question Description = §2_qSNz_PG_GP30_Q23]

1. Aonly/@aa A [Option ID = 2089]

2. B and C only/@ae B Atz C [Option 1D = 2090]
3. Aand B only/@aem A &= B [Option ID = 2091]
4, Aand C only/o5am A diz C [Option 1D = 2092]

Correct Answer :-
e A only/o5ae A [Option ID = 2089]

19) Given below are two statements
Statement I: The single discount equivalent to a series discount of 10 %, 30 % and 50 % is 68.5%
Statement |l: The single discount equivalent to a series discount of 10 %, 20 % and 40 % is 43.2%

In light of the above statements, choose the correct answer from the options given below

il 31 el RRw o1 3

weret - | 1 10%, 30% stz 50% agf &t 9jzaen @ T9ne vwd ag1 (Rewne) 68,5% 2
e - 1 1 10%, 20% 3fiz 40% agi &1 gjzae & FATeI Ul ag1 43.2% 2

s waell @ el 3, oi Ry oe Repeal i 31 w8 3av w1 axe Hifse
[Question ID = 524][Question Description = 52_qSNz_PG_GP30_Q24]

1. Both 5tatement | and Statement |l are true/mem | dz || 8@t = & [Option (D = 2093]

2. Both 5Statement | and Statement |l are false/mem | 3z || 3wt sen=r & [Option |0 = 2094]

3. Statement | is true but Statement Il is false/mert | 37 &, Broqg @ua |l sera & [Option [D = 2095]
4. Statement | is false but Statement Il is true/@ewm | sra 2, foog wem |l I € [Option 1D = 2096]

Correct Answer :-
® Both Statement | and Statement |l are true/mem | #iz |l S I= £ [Option D = 2093]
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20) Which term comes next in the sequence?

AN, CQ, EU, ___
AN, CQ, EU, __ agma ¥ e ug ol ar & ?

[Question ID = 525][Question Description = 52_qSNz_PG_GP30_Q25]
1. JB

[Option ID = 2097]
2, 1A

[Option ID = 2098]
3. HZ

[Option ID = 2099%]
4, GY

[Option ID = 2100]
Correct Answer :-
« IB

[Option ID = 2097]

21) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In a valid categorical syllogism, the middle term must be distributed in at least one premise.
Reason R: The conclusion of a valid argument cannot assert any more than is contained in the premises.

In light of the above statements, choose the correct answer from the options given below

il <) wewl Ru sm & ;. ues aifdrsee (Assertion A) @ wu 3 3iiz gz 351@ @reor (Reason R) @ wa 3 ©
afirperer (A) © o du forvtier R H a1 A &N U menfyas! 3 & aaed sy dlen Afdu

@1l (R) : & ad o foreaod 33a smenz ara=il of foifza oot 3 aifties oidf 2en

FUIE werell & elhd 3, offar Ry fapedl & 3 wdl 3az o1 aara Hifar ;

[Question ID = 526][Question Description = $2_qSNz_PG_GP30_Q26]

1. Both A and R are true and R is the correct explanation of A/ (A} 3fiz (R) 8at oig € &tz (R), (A) & st = € [Option 1D = 2101]

2. Both A and R are true but R is NOT the correct explanation of Af(A) iz (R) gkl me & aeeg (R), (A) @5 78 =oe=n &t § [Option ID = 2102]
3. Ais true but R is false/(A) =1 &, wag (R) s & [Option ID = 2103]

4. Ais false but R is true/(A) s 2, weeg (R) 3w & [Option ID = 2104]

Correct Answer ;-
® Both A and R are true and R is the correct explanation of A/(A) 3z (R) 2t @ & &t (R), (A) &t =t omeeem & [Option 1D = 2101]

22) Which of the following statements are correct?
A. A proposition and E proposition are contradictories
B. A proposition and O proposition are contradictories
C. E proposition and O proposition are contradictories
D. | proposition and O proposition are contraries

E. | proposition and O proposition are subcontraies

Choose the correct answer from the options given below:

foramferfiae 3 21 @iot 31 BT JET E 7

A, adara= A sz adsara E smaas E

B, aaiarg A sfiz adaraa O smnas 3

C. adar E sz aadaraa O wwaeas 3

D. e | sz adaraa O Rrafta

E. aosarr | 3z aafaraa O sofyafya ¥

oiier fu s1e Rrpeal A @ A8 307 o1 aua FHifow ©

[Question ID = 527][Question Description = 52_qSNz_PG_GP30_Q27]



www.prepp.in . re p p

Your Personal Exams Guide
A, D and E only/daer A, D dfis E [Option D = 2105]

A, C and D only/sae A, C &z D [Option 1D = 2106]
B and D only /@ B stz O [Option 1D = 2107]
B and E only/<@ec B otz E [Option ID = 2108]

oW

Correct Answer :-
o A DandE onlyfa@am A, D sfiz E [Option 1D = 2105]

23) Identify the fallacy committed in the argument:

"The policies suggested by him have no merit since he was once charged with embezzlement",

forest & A o’ Sy @Y gsmer Hifsre
"FH® Fr Jend o1 ofifere 3 Wi syt il ¥ G 39 av vos w17 Svaer W MR aen o
[Question ID = 528][Question Description = 52_qSNz_PG_GP30_Q28]

Argument ad Hominem (abusive)/eaima 5k [Option D = 2109]

Argument from lgnorance/ammremn s [Option 1D = 2110]

Appeal to Pity /@ =1 andter [Option 1D = 2111]

Appeal to Inappropriate Authority/ gk qifrR =1 ande [Option 1D = 2112]

oW =

Correct Answer :-
¢ Argument ad Hominem (abusive)/atwa giks [Option (D = 2109]

24) "A young child goes near an iron ball, feels the radiation of heat; from that she concludes that the ball must be quite
hot and returns without physically touching the ball.”

Here the cognition is through:

"mr Bl adl v g & sl @ fror Axd 2, s © [Rikpwor o aopma oxdt 2, 39 foremd rorrd & /5 3ig smea & saf?is sea gt
3tz 3¢ @ »iifors =a 31 g Ren amaw dic Al 2 - a8l a8 Hse e a3 3 7

[Question ID = 529][Question Description = §2_qSNz_PG_GP30_0Q29]

1. Perception/geemet snar [Option ID = 2113]

2. Knowledge through analogical reasoning/SrEy=Eees o & #a A 5w [Option ID = 2114]
3. Inference/agfifr [Qption 1D = 2115]

4. Verbal authority/enfeces giteerz [Option 1D = 2116]

Carrect Answer :-
# Perception/grast s [Option 1D = 2113]

25) Given below are two statements
Statement I Asamavyapti corresponds to the Universal Affirmative proposition,
Statement Il: Samavyapti corresponds to the Universal Negative proposition.

In light of the above statements, choose the correct answer from the options given below

oikl © ware Ru smw 3 ¢

werd - | @ e Fdemll IoRraT ranr & W &

weel - || @ wdendl Brenears aasarea © F9Rsu 8

I RITe el & el 3, ik 6v o1re Repeal 3 A w18 s @1 o=@ $ifm ©
[Question ID = 530][Question Description = 52_qSNz_PG_GP30_0Q30]

Both Statement | and Statement || are true/mem | diiz |l siaf s & [Option D = 2117]

Both Statement | and Statement |l are false/w@wemE | 3 || S s & [Option 1D = 2118]
Statement | is true but Statement 1l is false/wem | wwa 2, Meg em 1 serer & [Option 1D = 2119]
Statement | is false but Statement Il is true/=em | ammg 8, fioeg e || g & [Option 1D = 2120]

bt B

Correct Answer :-
# Both Statement | and Statement || are true /=@ | 41z || @il =y & [Option D = 2117]

26) The Ethernet is

feralc B -
[Question ID = 531][Question Description = 52_qSNz_PG_GP30_0Q31]
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| 1. A program that identities and moves traffic across local segments./ o e g o Femei w51 3 amenrr & o o 8§ or 3 o s 3 33 Sae
Facr & [Option ID = 2121]
2. A protocol designed for wireless MANS /arase= Wi & ool @ fom woien i sarns [Option 1D = 2122]
3. A system that connects a number of computers or devices together to form a LAN/ @k wewgedl @ 3ugvll ® Silsds W € Ual 9olla aieft gonedt [Option 1D

= 2123]
4, A device that can communicate with another computer/ea: Twes o5 e Him o2 Twa aen sun [Option 1D = 2124]

Correct Answer :-
e A program that identities and moves traffic across local segments/vas o Jen Fit el FisT 3 arrna ot usam o & 3ie v 3 g3t Ts 3 33 Jantet
o & [Option ID = 2121]

27) The Trojan horses

S¥slal 3 -

[Question ID = 532][Question Description = $2_qSNz_PG_GP30_Q32]

Search automatically for an item on the internet/>mfta wa 3 dewie w eull wor #g o1 gongl @zt £ [Option 1D = 2125]

Are viruses that can replicate themselves/i= feyawy 26 2 sl w9 o sigegfer wioir Agwr & [Option ID = 2126]

A software that gathers information by monitoring/ agsmor Zr Ion vaw v amen Aved=s g 2 [Option (D = 2127]

Are malicious programs often disguised as legitimate software/agm &u Hivetrr @ w3 Rgeguf deper g & [Option (D = 2128]

o

Correct Answer :-
& Search automatically for an item on the internet/za=iem F=a 3 dee @ feslt we mo ©1 Aongl @2 & [Option 1D = 2125]

28) Given below are two statements regarding the data bus in the computer system
Statement I; Data bus sends data between the processer, memoery unit and the I/O devices.
Statement Il; It is uni-directional

In light of the above statements, choose the correct answer from the options given below

DRI Brea # on (3e) a0 © d9 | 6 s ke se & :

weard - | 1 oa =1 QIEEE, AaE! gfer Az amem / Bela swoeor < da sa gita ot
werel - || 1 e woa feen #dl aikdl 3

IRITE el & el 3, ik 6u o1re Rrpeal 3 A w18 s @1 o=@ $ifam
[Question ID = 533][Question Description = 52_qS5Nz_PG_GP30_0Q33]

Both Statement | and Statement || are true/wem | diz |l siai s & [Option 1D = 2129]

Both Statement | and Statement |l are false/w@em | &z || S s & [Option 1D = 2130]
Statement | is true but Statement Il is false/=e= | 309 E, feeg oo || amea & [Option 1D = 2131]
Statement | is false but Statement Il is true/=es | ammg 8, fooeg o || g & [Option |D = 2134]

o

Correct Answer :-
& Both Statement | and Statement |l are true/=em | 4z || Sl &g & [Option D = 2129]

29) Following are some statements regarding the firewalls. Choose the correct statements
A. Examine traffic between computer and a network

B. Used to verify that data comes from a secure and trusted source

C. Use the concept of digital signature

D. Keep a list of IP addresses thus preventing access to certain websites

Choose the correct answer from the options given below:

oildl WRIEdicl @ e A o wew Ku e § 3l et giene

A. eI diiz oical < dfa Ehbep Bt Sifa ol

B. i a faasmeiie Fia 3 e arl o I AcdIdd Dol @ fore ggep aidl 3
C. e geeiere &l @t &1 gret ool &

D. s i uga &t v I el 2 sl 531 g |9 daEl Ao uga ol Admd §
oiil 6w 1w [amedl d 3l vz @I ws Hifg ¢

[Question ID = 534][Question Description = 52_qSNz_PG_GP30_Q34]

B and C only/oae B &= C [Option 1D = 2133]
C and D only/wwmr C 3z D [Option D = 2134]
A and D only/@swT A itz O [Option ID = 2135])
A and C only/aswT A itz C [Option ID = 2136])

oWk b

Correct Answer :-
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* Band C only/@ae B 4z C [Option ID = 2133]

30) Match List | with List [l

List | List Il

Security threats Meaning

A. Hacking l. 'Clog-up’ a user's inbox with unwanted emails

B. Phishing Il. Gives the originator access to all data entered by the keyboard
C. Spyware Ill. Identity fraud

D. Spam IV. lllegal use of personal data

Choose the correct answer from the options given below:

et -1 @ et -1l 3 gdRm b

et -l et -1l
(zzan
KL (aref)

A, BRper ||, gREIel @ Tordia @ amifesa £3id A s oIl 8

B. fsfdisr gmﬁlﬁraﬂ@ﬁuﬁamqﬁwaﬂmmwu@qﬁlﬁm
C. 7ura=r |l. usare wuc

D. =iwn |IV.ﬁaﬁ‘mﬁmasraﬁﬂqehm
sk o oo Repedl & 31 w16l 3= gfee :

[Question ID = 535][Question Description = 52_q5Nz_PG_GP30_0Q35]

1, A-1,B-1ll, C- N, D- IV [Option ID = 2137)
2, A-I¥,B-NI,C-Il, D-1[Option ID = 2138)
3. A-IV,B-1,C-Ill,D -l [Option ID = 2139]
4. A-1,B-1IV,C-1Il, D-1[Option ID = 2140]

Carrect Answer :-
o A-|,B-Ill,C-Il,D-IY[Option ID = 2137]

31) Match List | with List Il

List | List Il

Hazardous waste Characteristic feature

A. lgnitable l. Yery unstable

B. Corrosive Il. Causes serious health issues
C. Reactive |III. Destroy containers

D. Toxic IV. Able to sustain combustion

Choose the correct answer from the options given below:

et -1 ot et -1l 3 ygdifea i

ayeht -l yedt -

(zrzens auforee) (Riforee crgoT)

A. gooill |. srftrr ailem

B. Figneo Il, Farea & e sifiz aforprs
C. gRiRpamaa Il urg, (w5eoiz) DY ove BHM &
D. fader IV, Tear araul 3ol Ot Asa

ofr fon a1e sl & 21 w1dt ga= gione |
[Question ID = 536][Question Description = 52_qSNz_PG_GP30_Q36]

1. A-1,B-Il,C-1¥,D- Il [Option ID = 2141]
2. A-IN,B-NI,C-1l, D-1|[Option ID = 2142]
3 A-IW,B-NI,C-1,D -1l [Option ID = 2143)
4, A-1,B-1V, C-I1l, D-1l[Option ID = 2144]
Correct Answer :-

a A-,B-Il,C-1V,D-Ill[Option ID = 2141]

32) Anaerobic digestion of sewage sludge is

A. An effective process for organic solids

B. This process requires lots of energy

C. This process generates methane as an end product

D. Digested sludge is reduced in volume and easily dewatered

E. Yery fast process and thus does not require large sized reactors
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Choose the correct answer from the options given below:

FcTad ot s @ amnfeus aEe

A, Sifees ot aeelt & e qandt gitgen

B. =1 gftgan 3@ arcal?re weit & smagasm Bt

C. =3 gftgan & siftm 3eare & = 3 e 3ia gordl 2

D. miftrer Hias aeraa # ac Jrd 3 o Jwaa A sosfa & andt 8

E. sreaftys diq qftsen 2 sfiz anm: a3 soer @ freaedt B smagaasar oidt gl
ol 12w a1v taascal 3F 31 7 FT @1 oo DI @

[Question ID = 537][Question Description = $2_qSNz_PG_GP30_Q37]

B, C, D and E only/dwe B, C, D 4w E [Option 1D = 2145]
A, B and C only/@@m= A, B 4 C [Option D = 2146]

A, C, Dand E only/dvaa A, C, D &= E [Option 1D = 2147]

A, Cand D only/osae A, C &z D [Option ID = 2148]

o kad R

Correct Answer ;-
e B, C, DandE only/fderT B, C, D iz E [Option ID = 2145]

33) Given below are two statements

Statement I: Toxic chemicals often injure organs as well as organ systems

Statement |l: Hepatotoxins are chemicals that can damage Kidneys

In light of the above statements, choose the most appropriate answer from the options given below

oI 31 woeret few s F

@erel - | 1 WY TR g 39l g 3i91 gunedt oo sifor agan 2

el - 1| ; 20CeTfrse a8 TR 8 S 956! @ gifer ugan wan &

FRivo Doell @ e 3, ofR e s1¢ fawcdl I A Tt Faz o1 @6 Hife ;
[Question ID = 538][Question Description = $2_qSNz_PG_GP30_Q38]

1. Both Statement | and Statement |l are correct/mam | 3fiz || S 38 & [Option ID = 2149]
2. Both Statement | and Statement |l are incorrect/@erm | iz || 3wl wiewr € [Option 1D = 2150]

3. Statement | is correct but Statement Il is incorrect/@emt | 31t 8, RBroyq @e@ || siewr & [Option ID = 2151]
4, Statement | is incorrect but Statement [l is correct/wem | 7 2, freg wem || =2t & [Option 1D = 2152]

Correct Answer :-

e Both Statement | and 5tatement [l are correct/@em | #z || S =8t & [Option 1D = 2149]

prepp
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34) Match List | with List [l

List | List I

Millenium Development Goal |Aim

A, Goal 1 1. Promote gender equality and empower women
B. Goal 2 Il. Reduce child mortality

C. Goal 3 1ll, Eradicate extreme poverty and hunger

D. Goal 4 IV. Achieve universal primary education

Choose the correct answer from the options given below:

st -1 B 3t -1l 3 AR AR

et - et -1l

(msd Repr aga)  |(32ea)

A, ez 1 |I.ﬁﬁlﬁmmﬂrasrﬂaﬂaam%mﬂgrﬁmm
B. ciga 2 |Il.maﬂaaﬂmm

C.oga 3 ||||.mﬁlﬂiﬁnlfjﬁlﬂiaﬂgﬂﬂilw

D. o1z 4 IV. grefirs Rigm grm 2o

oftar v oo Rroseal & 31 ad saw gfée ¢
[Question ID = 539][Question Description = 52_qSNz_PG_GP30_Q39]

1. A-1Il,B-1¥,C-1,D - [Option ID = 2153]
2. A-1,B-1l,C-1l,D- IV [Option ID = 2154]
3. A-1,B-1¥,C-1ll, D- I [Option ID = 2155]
4. A-IV,B-1I,C-1,D- Il [Option ID = 2156]
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Correct Answer ;-
o A-ILB-1V,C-1,0D-1l[Option ID = 2153]

35) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Coastlines are considered as high potential areas for wind energy generation,
Reason R: Ocean water can be utilized as coolant during wind energy production

In light of the above statements, choose the most appropriate answer from the options given below

ofiY 31 e 2w smr | wop arfdroera (Assertion A) @ a3 aiiz g1 s o (Reason R) @ w=a d ;
atfireperer (A) @ A3g aéla gkl ©l udel el Srulcel @ 619 il ol 2 afryof g ATen wirar 2
@10l (R} : uael Faf Iearcel & TG o1t o1 ftaers & u # gEiier fean o @ 8

IRIE werell > el ¥, o Ru fawedt # 3 578l 3mz &1 aww Hifss |

[Question ID = 540][Question Description = $2_qSNz_PG_GP30_Q40]

Both A and R are correct and R is the correct explanation of A/(A) 3fiz (R) S5 =8 & 3fiz (R), (A) &t =8 =me=n & [Option 1D = 2157]

Both A and R are correct but R is NOT the correct explanation of Af(A) 4k (R) Sta = & weag (R), (A) & =ft o st £ [Option 1D = 2158)
A is correct but R is not correct/(A) =8t 2 weeg (R) @t =@t & [Option ID = 2159]

A is not correct but R is correct/(A) =8 =2f £ wag (R) =2t & [Option ID = 2160]

L kad R

Correct Answer ;-
e Both A and R are correct and R is the correct explanation of A/ (A) iz (R) =i =8 £ 5iiz (R), (A) & =8 wozwen £ [Option 1D = 2157]

36) In the ancient Buddhist system of education, the student after being admitted to a monastery had to renounce all the
worldly and family relationships. This was termed as

greflar dig foran gorrelt F w0 A g © ag, Rl o1 s siiffrr iy aPraifye ddell o cenes oo aar oo 39 Bivar 3 A oo oa Siar e
?

[Question ID = 541][Question Description = 52_qSNz_PG_GP30_Q41]
1. Pravajya/gms [Option ID = 2161]
2. Upsampuda/3usmrger [Option 1D = 2162]
3. Samvartan/zmia [Option ID = 2163]
4. Upnayan/suarer [Option 10 = 2164]

Correct Answer :-
® Pravajya/yae [Option 1D = 2161]

37) AICTE is not dealing with the maintenance of standards in which one of the following areas?

G ad 3t £ ¢ Gowafafiaa 3 2 foea i 3 AeIDl & sllzaor o BRI oidl wwdl 2 ?

[Question ID = 542][Question Description = $2_qSNz_PG_GP30_Q42]
1. Hotel Management gzt gaem [Option 1D = 2165]

2. Town Planning/=er forem [Option 1D = 2166]

3. Pharmacy/wfd [Option [D = 2167]

4. Nursing/@f3far [Option ID = 2168]

Correct Answer :-
& Hotel Management /gt gau [Option |D = 2165]

38) Given below are two statements

Statement I: The Wood's Despatch recognised for the first time that the government should give frank and cordial support to
female education and take effective measures for its expansion

Statement |l: Girl candidates were allowed to appear in the matriculation examination for the first time by Calcutta
University

In light of the above statements, choose the most appropriate answer from the options given below

ohia) ) weot Ru s 3 :

oot - | 1 gz Rt d wdgem us ¥ iior e sren B wewr o) w1t Yen @ e Bedera siifo wader 3an aiffv sz sao Ryar © fore
Il U el a1flee

werd - || enférest spaldal ot fifde altsn 3 e ot 6 sigAfe Fdye@ wawal krafierert g & 38
ITp DuEl & AcllS A, ol Ku s1e [aacul A 31 wJ1él 3az o1 wera $ifare ¢
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[Question ID = 543][Question Description = 52_qSNz_PG_GP30_Q43]

1. Both Statement | and Statement [l are correct/=em | iz || 3=t =2t & [Option 1D = 2169]

2. Both Statement | and Statement |l are incorrect/mem | i3 || Sl s & [Option D = 2170]

3. Statement | is correct but Statement Il is incorrect/=am | ot &, feeg e | wiem & [Option 1D = 2171]
4. Statement | is incorrect but Statement |l is correct/@emr1 | s/ 8, Prog @emt || 7@t @ [Option ID = 2172]
Correct Answer :-

e Both Statement | and Statement |l are correct/mam | 3z || 2l 78 & [Optien ID = 2169]

39) The NEP-2020 envisions higher education as

A. playing an important role in promoting human as well as societal well being

B. enabling system for personal accomplishments with no economic contribution to society or public engagement
C. a system with less emphasis on development of cognitive skills and achieving learning outcomes

D. a system with identified sets of skills and values to be incorporated at each stage of learning from pre school to higher
education

E. a system which needs complete overhaul and energising to overcome the challenges faced by the system

Choose the correct answer from the options given below:

aedra forgm oftfer - 2020 3 sca fBien & forver 3 A Rew e =a 3 2smsrn 8 7

A, FerdRI a wrafae oot & datie # seragel gt @1 xdea

B. z1ava sreran Ardstiors g 3 o fopell aloweTer & Gafipe foreulal @ fow AgrIs gumelt

C. ww ¥ guneht frerd dsnencas wierda fasiia oo Az affpm ufima Qi oo uz o 9 8

D. wes ¥t gounelt e feenert - gd 21 sza fren oo afRpm & g a1 3 Al & oo oierer a gl o e ol &
E. v =t gunehl foradt gaega geilieril o1 Aen ool @ fere gl Sivilgz a gor: ad ygrer @l & araerdd 2

ol 12w a1v taascal 3 31 7 FrT @1 @Il DI ©

[Question ID = 544][Question Description = S2_qSNz_PG_GP30_Q44]

A, B and C only/@ae A, B 3tz C [Option ID = 2173]
B, € and D only/dae B, C sz D [Option ID = 2174]
C, D and E only/@== C, D &z E [Option ID = 2175]
A, D and E only/@@= A, D sfiz E [Option D = 2176]

o R

Correct Answer :-
o A, Band C only/@am A, B sfiz C [Option D = 2173]

40) Match List | with List Il

List | List 1|

A. Central Institute of English and Foreign languages [l. Chitrakoot

B. Gramodaya Vishwa Vidyalaya I, Hyderabad
C. Central Institute of Tibetan studies lll. Bangalore

D. Indian Institute of Science IV. Dharamshala

Choose the correct answer from the options given below:

et -1 ot et -1l 3 ghfea i

axeht -l yedt I

A. Dl sislE 9 el smar Fzeret |, Regme
B. symicy Reafdener 1. Bomars
C. Bk feadft staa dzeme I, dsmcrs
D. sz o sAvura IV. erfomen

i v s1e faseal i 31 wdt Iw giew
[Question ID = 545][Question Description = S2_qSNz_PG_GP30_Q45]

1. A-1,B-1ll, C- IV, D -l [Option ID = 2177]
2. A-1L,B-1IV,C-1l,D- I [Option ID = 2178]
3. A-1,B-1,C-1V,D- Il [Option ID = 2179]
4, A-IV,B-1,C-1l,D- Il [Option ID = 2180]

Correct Answer -
o A-1,B-IIl,C-1I¥,D-Il[Option ID = 2177]

Topic:- GP_30NQOV_C
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1) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors. It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized, Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means Killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right, For that is what going to war means; it means saying that might is right,

ferraferfiae srerior o saragde uew? gF s1e geal & sy Ao

sfrera & grawt # azen afera sy Fufites siivaoncht saftswl # siffroior maer Rdvar, Aamafer siie Rrardl B srafds f3er asil ot @vwar at
M=l 9glel 9 arxa # #ige bl, JoIol agel ®elil Jooi ofél el 2 &4 ae Sk o182 b ¢ Ur @l srdyza fooue! dip fipem 1 w1gg 3 o
Fardl, ar ad &bt wraratén B sen &Y, a1 W H |G ST Uie & gl it faedaml @ o i 39 G adl 8 A9l JoTd A # g Sl
iz g iz san st [ gfor s o wme gl 3 w1l 35 Fosil ur e et fosan am Jemat ar Brardt <& sipler urdgest siférpion aisil w1
=1z forara & T seoas o1 a § feelal aflroas sz 3 area 2ol @t g o vt fisen 2 o Rl S su d s o e & s &
i ¥an B, uveq @ walftes wya ol § a9 asd ¥ Serch ot asa 3 am: o # oot 861 @ a2l ¥ 3| wa ¥ sreon Sl SiA vos qgf srerr
Siercit AT 2 &, Ulor] SeRnI el 3197 Blel o1l § ugl v fop g3l ot aue! e asel ©f §uR o AR 0 avren s ag orl waitcs
morerdl Ydas &3 fopen a1 & - sl a8 oY Rsrarnsit sie Jomafee of féran & - e Jon o1éf 2 et araat o1 foroemel @ fore o 8 ool @
3t B sl weetl, sfiz w9 alell @l 36 fare sa 9ol W e DI sia Ael geell Blel d9elR] A6 oalel O fome e fbw a2t @ oller o3 ugl &
AiEiea calpl @ A T 8 3 52 218 g o 1 ugl of Alroad caltpal @ a3 8 98 fasiar 8 3T ag of aad fasril g & afes az
Rl gon 3 arm: ot 18l ¥ waifs g oo wi st sl 3 sawr s § us ween By gorarer & 18 ¥

In the first sentence, the author says that:
ge arery 3 S wedl 2 b

[Question ID = 546][Question Description = 52_qSNz_PG_GP30_Q46]
1. Most history books were written by conguerors, generals and soldiers/ affrpisr sFrrr grert R, Jemitel df Rl orr Rrdt o ot [Option ID =

2181]
2. No one who really helped civilization forward is mentioned in any history book/sfFem & sl of grose 3 03 kel cafes o1 Ieos @ foan o=n 2 o avaa

# Fs o AP Al A Agg B @ [Option 1D = 2182]

3. History books tell us far more about conguerors and soldiers than about those who helped civilization forward/2ftEm &1 gy 29 B5aT S a8 aert d
Ao Dol gl Bt & Femad i Rl & a2 d samr st 8 [Option 1D = 2183]

4. Conquerors, generals and soldiers should not be mentioned in history /sitierr 3 Reqi, JomkEl i Rzl &1 soon ol B oien woige [Option 1D =
21384]

Correct Answer :-
e Most history books were written by conquerors, generals and soldiers/affrrier siem grmd Brimal, Smied o R ger fored o2 ot [Option ID =
2181]

2) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
know all about the killers and destroyers. People think a great deal of them, s0 much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors, It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized, Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right. For that is what going to war means; it means saying that might is right.

Rrafilan sEie @) tamgde ugm: g o1 Qs @ I i

st <& graeot d agen suler sfiv walife sieaencht saive=al # affroier #ee fear, Jomaft sz B 2 safs Brer aeill o s ot
el dgTol 3 arrFad 3 #GS Y, Foldl SFUT DI Iealsd ofdl Sl 3 &3 As S oigl 8 fob ¢¢ G o1 wdym fowe! di fosam i aggg df o
Fert, a1 ad &l wiamafds B swen Bl @1 wia d F\e I, Ued s erarRl AR Rederpl @ aR d 39 o Al & olST Solid Ak ¥ dgA Sl
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Fee # sz saon st By gfern sir & warer oisd # wedl SO ol av sig et Bdtar ar Femafer ar Rrardt B sosfer ardSt siffrestoer wisil @i
=1z forara & T sgoaw o1 a § feglar afllras sz 3 area 2ol @t g i vz fisen 2 oz Rl S su disa o e & sha &
i Bar A1, uveq A walfter wya ol § agp asd ¥ Serch oft as 3 s osd # st 861 @ el ¥ 3| wa # srcor Sl STA vay qgf e
SieTelt areT S &, Ueor SIRDI 32l A9 Sla ol & usl rp b g3l @l avua e asa @ daR ween Ik 362 aoren [ as ol wmitcn
DOTCII Ydcd B3 fopa SIrdT & - iz T8l o ferstaradt siiz Aomaleril of foban 2 - F3a 8ol ol 2 eli91 ael 2913 foraeTel o féTe s & aisol @1
312l 8 srann wran, 3T we ael ol a6l Rrars 0wt @© Riw wIE ssa ael g Blo weirRt ws Samet @ e fr Bew aat O ot ol g ©
ltrsiza caftpedl @1 A1z A ¢ 20z fbe as o b B vy o alireaa calipdl ©! # & g [aarar 2z a8 o Dad el gan € afds as
Rl gon & o ot 18t ¥ waifs g asor wr st sel 3 sawr s § us ween By gorare & 18 ¥

On all the highest pillars in the great cities of the world, we find:
giorl s Arater 9123 @ Fdlea Fisl Uz, &H uni & :

[Question ID = 547][Question Description = $2_qSNz_PG_GP30_0Q47]

1. the figure of the same conqueror or general or soldier /33t fearon = Jemofer =y Bl @1 amsfy [Option D = 2185]

2. the figure of some congqueror or general or soldier/ Rl famr @ Jmmafer 2 Bag 51 arggh [Option 1D = 2186]

3. a figure representing the number of conquerors, generals and soldiers in that country /s 3er # Rermral, ol fie S 6 dwe el aefl angf

[Option ID = 2187]

4. the figure of a person who helped civilization forward/ = 1 JE IR i A5G T Tl ARE & Akt [Option 1D = 2188]

Correct Answer :-

¢ the figure of the same conguercr or general or soldier/ssi fesrm @ Jemafy =0 Bt B gkt [Option 1D = 2185]

3) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors, It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized. Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can Kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right. For that is what going to war means; it means saying that might is right.

formteiian smerior @I aydd usm: U 218 Yeal @ Jaz 2 |

sfeterar &t Yol # agen sufier iz malfties siizaench =aftedi 3 aftrsier sare o, Aamata sfiz Rrurdt 2 srafs fora disil ot e @t
3l agrar i awaa # wce B, Jorwt agen worlty yodrs o8l Sl B &4t ww s oidt B o o 8 ot wedgeny Reaet Sk R wr wg o o
I, @ o bl wremaf?y B svren B, a1 T d TS 3K, UIed & raRl Az ftaaml @ 91 d 39 @ udl § oS o gl d g sarel
Hier 3l Fden s o5 gior sz & #arel oradl # JaE] S widl uz ara et fasiar an Femafer ar Brardt &Y angpfir uredy arftrasier asil ot
a1z Rrearst € Ko semoas 291 d § Bresiol sifirpaw i A s Selia g A iRk e Edie Rl s su d s o e & s &
5 U 2, U d waifice wva adl  ugl asa §; siorctt oft asa ) ar: orsiE 9 arcst gl @1 aref E 33 wu 3 ares Slen il v U AerT
siercht arcor slan 3, aveq st el Fva Hon oifl B wsi oer By gEdl o) suer e aser Wi S wean i 308 aren B s wd st
poreIdl Y B3 Koz it 2 - iz adt a sl stz Jemateril o1 foar 2 - 73a dien idl € clier araa 1S foraeral < fere asa 8 asel &
arel & geen e, 3fiz 9 sl @l el i a1 @3l @ [ @I 3iea1 ARl Gaoll ST a6IRT A8 Swol @ fere oo foow agr o oilvr ol ugl @©
siftizca k=il @ AR o E 3z 52 as oo [ B vl & siffrooa sl o #im 2 o e § ofiz a5 &1 $aa Rerft zan & afeo @@
feraredt gam & arn: adt dl & iR g aisal ®or Al aref E; swroet aref € a1 woeen for aaae & wdt &

Most people believe that the greatest countries are:
ai?resior citsill oo o E s sieravaa 2o1d 3 ;

[Question ID = 548][Question Description = 52_qSNz_PG_GP30_Q48]
1. those that built the highest pillars/Fosier e il @1 fomiu e [Option [0 = 2139]
2. those that were beaten in battle by the greatest number of other countries/ B e 3ol o g W zorn [Option 1D = 2190]
3. those that defeated a few countries/Fiegist aig &l ©t gern [Option 1D = 2191]
4. those that won the greatest number of battles against other countries/Bmaint s Seil @ fieg afiFrre gai 3 ferr g ot [Option 1D = 2192]

Correct Answer :-
e those that built the highest pillars/Begiar searmer il o femin fs=n [Option 1D = 2189]

4) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
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know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors. It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized., Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right. For that is what going to war means; it means saying that might is right.

Rrafilan sEie @) tamgde ugm: g o1 Qs @ I i

sitrer @t Yol # agen sufeq sfiv Falffne siiaencht saffpl 3 sftroier wsre ek, Asmater siz Brurdt § safs B aetl of w3 @1
M=l 9glel d area # #igg I, Jolol agell ®elil Jook ofél el 2 &4 ae Sk oigl 2 b ¢ Uk @l srdyza fooure! dikp fipem w1 w1gg 3 o
Fadl, ar ad @ wrenafdy & soren B, A1 Fea 7 WIS SN Uveq & seard iy Riedaai © 9 d g wo gar § e Jor i 7 9gA Sl
FHr E iz sv1en et o gfory sz o were orgll 3 TRl B wisil uz g fosft fomrar am Jemafa ar Brardt & sopfer urdst sif2reior dsil o1
Fe forara 2 76 samoaw o1 9 € foredlol aftras sz 3 arew 2ol @1 I I garfsra fasen 2 oz femmsil & w=u 3 3o1 uz ool fisan 8 whwa 8
5 Or &1, ey A Faiffes @ aidl § uyl asad §; Serwd sit osa § an: asiE | st A @t aref § 3. wu 3 3w gler SiA o ugl e
sioreft areaT 2ren 3, UTeq s aef 79w Ao ol 2 WE A 5 cHd oY vl o asal @ A owen i 368 amen 16 e oRf wafftes
WONETAT Geies @33 fipen S1rr 8 - ofi aét At RiSianail siiy Aomaferil o fvar & - v son o1l 3 e araal w191 Praerst @ Rie asd § oo o
3ol B aeal @etl, iz W alsll &l AUe Al ga Dol O [0 DI siea APl Gadll IS 99l Ae oaddl @ foe o fover ugt o oler g ugl &
AR caipl @1 A Hodd 8 3 52 218 s o 1 ugl of Alroad calepal @ e 2 98 faeiar 8 3z ag of avad fdsril g € afés az
Rl gon 2 ar: oft wdl ¥ @iile g ol @ A aef 3; swr ardf & as woon Kb acam & w18 §

In the author’s opinion, the countries that ruled over a large number of other countries are:

AwE B AT, T3 Fwe A o Soil arener wIer wrcy or -

[Question ID = 549][Question Description = 52_qSNz_PG_GP30_0Q49]

1. certainly not the greatest in any way/BriRnT = 3 Rt it Ao 3 #orE o £ [Option (D = 2193]

2. neither the greatest nor the most civilized/a @ #emr= & R o & Fmiffcr = [Option 1D = 2194)

3. possibly the most civilized but not the greatest/swrrrn saiidcr ase 2, gy smerm owf & [Option 1D = 2195])

4, possibly the greatest in some sense but not the most civilized /srrn Rt sref # e 3 oy maiiter e ot & [Option 1D = 2196]

Correct Answer :-
& certainly not the greatest in any way/kiirr wa 3 fiedt oft amEr 3 smere s £ [Option (D = 2193]

5) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors. It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized, Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right, For that is what going to war means; it means saying that might is right,

ferraferfiae srerior o saragde uew? gF s1e geal & sy Ao

sfrera & grawt # azen afera sy Fufites siivaoncht saftswl # siffroior maer Rdvar, Aamafer siie Rrardl B srafds f3er asil ot @vwar at
M=l 9glel 9 arxa # #ige bl, JoIol agel ®elil Jooi ofél el 2 &4 ae Sk o182 b ¢ Ur @l srdyza fooue! dip fipem 1 w1gg 3 o
Fardl, ar ad &bt wraratén B sen &Y, a1 W H |G ST Uie & gl it faedaml @ o i 39 G adl 8 A9l JoTd A # g Sl
iz g iz san st [ gfor s o wme gl 3 w1l 35 Fosil ur e et fosan am Jemat ar Brardt <& sipler urdgest siférpion aisil w1
=1z forara & T seoas o1 a § feelal aflroas sz 3 area 2ol @t g o vt fisen 2 o Rl S su d s o e & s &
i ¥ar B, uveq A walftes wya ol § a9 asd ¥ Serch ot asa 3 am: o # st 861 @ el ¥ 3| wa ¥ sreor A SiA vos qgf srerr
Siercit AT 2 &, Ulor] SeRnI el 3197 Ble o1l § ugl v fop g3l ot aue! e asel ©f §uR o Ak 0 avren s ag orl waitcs
morerdl Ydas &3 fépen a1 E - sl a8 oY Rsrarnsit sie Jromafeel of v & - e Jon o1éf 2 et araal 21 foroemel @ fore o @ oSl @
3t B sl weetl, sz w9 alell @l 3iUe [are sa1 9ol W e DI siea Ael Geoll Blel d9eIR] A6 el O fome e fbw a2t @ oller o3 ugl ©
AiEiea calpal @ A T 8 3 52 218 g o 1 ugl of alroaA calftpal @ Jwr 8 98 fasian 8 3T ag of dvad fasril g & afes az
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Rl gan & o ot 78t 8 w=ifts g awet wr A8t sef B; sy oref 8 ww wwen B woaner & w8 B
“That is what going to war means; it means saying that might is right", The meaning of this sentence is that:

"ag; o wi a8t sel ¥; vaest s 3 us weon B acaer & aft T " v oo wr el 3 Ry

[Question ID = 550][Question Description = 52_qSNz_PG_GP30_Q50]

1. the winner is right and the loser wrong/ feirn 38t £ dis quferr swwr 2 [Option 1D = 2197]

2. only those who are powerful should go to war/wwT aormer Wi & g gwer wmize [Option 1D = 2198]

3. those who are right should fight against those who are wrong/ =8 wifpal ot o5 =it o Reeg wen mize [Option 1D = 2199]
4. in a war only those who are powerful will win/gg 3 #ao afel & foed 28 [Qption D = 2200]

Correct Answer :-

# the winner is right and the loser wrong/fer 32 £ e gafem st 2 [Option ID = 2197]

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn



